CSIR Earth Atmospheric Ocean N Planetary Sci BIL

Topic:- 702_PARTA_CSIR_SEPT22_SET1_BIL

1) The squares in the following sketch are filled with digits 1 to 9, without any repetition, such that the numbers in the
two horizontal rows add up to 20 each. What number appears in the square labelled A in the vertical column?

fou o1e Year R @ ot 1 3 9 sicpl A, fdew b=l o1t sicd I Sle 3R, 3 A6 9 a8 3 b Y@ &ifers uftp @ sipl @1 Aler 20 3 ek Feaest
@, A A dafera asf & dlot AT 3ics 3rar 37

[Question ID = 515][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q1]
1. w91 @ il D AleT D 3M911d I 33y ST oldl fopRIr ST ADATr &
It cannot be ascertained in the absence of the sum of the numbers in the column [Option ID = 2057]
2. 3 [Option ID = 2058]
3. 5 [Option ID = 2059]
4. 7 [Option ID = 2060]

2) Sections A, B, C and D of a class have 24, 27, 30 and 36 students, respectively. One section has boys and girls who are
seated alternately in three rows, such that the first and the last positions in each row are occupied by boys. Which section
could this be?

foo2ft wenm @ Aaereil A, B, C a D 3 fenfeft &t iz maer: 24, 27, 30 3iik 36 3 v Aaordl A s 3iik asfdsa 3 il e @ a5 v, dier
dfepeil 3 531 ave A3 & 6 yA® Ufts D usell iz Siferar Ferret arsdl A R & VAT Blol AT AT BPN?

[Question ID = 516][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q2]

1. A [Option ID = 2061]

2. B [Option ID = 2062]

3. C [Option ID = 2063]

4. D [Option ID = 2064]

3) In a round-robin tournament, after each team has played exactly four matches, the number of wins/ losses of 6
participating teams are as follows

Team | Win | Loss
A 0

migol|lo
wWwloMm| w| o] &~
N SO I T I

F

Which of the two teams have certainly NOT played with each other?

up IR-YierRIBIAr (ASS-2Af6l cotfdic) d YR dd GRI @@ aR 3 el gdol @ a1, 6 gieripht &al @ siia/sr &l iz s R 3
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[Question ID = 517][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q3]
1. Aand B
A3z B

[Option ID = 2065]
2. CandF
Caie F

[Option ID = 2066]
3. EandD
E iz D

[Option ID = 2067]
4. Band E
B sz E

[Option ID = 2068]

4) Given plot describes the motion of an object with time.
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Which one of the following statements is CORRECT?
o= srm 3m¥w fop=t avq &6t FerRT & e are gorfar 3
forgaifciRae 9t A DlorAT DT AT 3?7
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[Question ID = 518][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q4]
1. The object is moving with a constant velocity.

aeq Rer der A a1 & & [Option ID = 2069]
2. The object covers equal distance every hour.



a¥g YD & 3 el gt a’1 et 3 [Option ID = 2070]
3. The object is accelerating.
aeq cviefler 3 [Option ID = 2071]
4. Velocity of the object doubles every hour.
azq &t sifel Y € D d16 Sejelt a st & [Option ID = 2072]

5) If one letter each is drawn at random from the words CAUSE and EFFECT, the chance that they are the same is
afe orsci CAUSE 3iiz EFFECT 3 31 g A uop quiigR Aefcad »u A fordple SR, 3ol Sloll @ Udb 3l Slol bl ATl 3
[Question ID = 519][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q5]

1/30 [Option ID = 2073]

1/11 [Option ID = 2074]

1/10 [Option ID = 2075]

2/11 [Option ID = 2076]

A W N -

6) A vehicle has tyres of diameter 1 m connected by a shaft directly to gearwheel A which meshes with gearwheel B as
shown in the diagram. A has 12 teeth and B has 8. If points x on A and y on B are initially in contact, they will again be in

contact after the vehicle has travelled a distance (in meters)
U digel @ 1 3l AR D TRR v g2 (due) SR Al v Brrufde A A1 33 8 Sl foo BrRrufde B 3 RiqeRir v1d A 12cidadsiz B 8
& afs A uz Ferq fag x, B uz e fopil fdg y 1 yrast 3 3iuds 4 3, disel @ fbeoil gdl (sfiez ) actol @ Ul d fdig Yol: AU 3 3mmear?
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[Question ID = 520][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q6]
1. 21
[Option ID = 2077]
2. 3n
[Option ID = 2078]
3. 4n

[Option ID = 2079]
4. 121

[Option ID = 2080]

7) A liar always lies and a non-liar, never. If in a group of n persons seated around a round-table everyone calls his/her left
neighbor a liar, then

Qb IRACAAIST A 3RACA dlcldl & 3R b Acadrst wsil 9ff e ol dieten & Al wap ailel ¢l & A 3R A 3 I3 n cAlpAl & APs A A
YD IR D Rl 3R I3 it ol SISt a8, al

[Question ID = 521][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q7]
1. all are liars.
J19ft sRIcIact &

[Option ID = 2081]

2. n must be even and every alternate person is a liar
7 Dl UdD A IR BI6ll TARID 3 31 UPIoR W ST YRID AP 3RIRIAIST 3

[Option ID = 2082]
3. n must be odd and every alternate person is a liar
7 DI Ub [T IR Blell AR & 3R UblorR W 0T YRIb ®Ifeh RIS 3

[Option ID = 2083]
4. n must be a prime
71 OB 39S AR 3

[Option ID = 2084]

8) The correct pictorial representation of the relations among the categories PLAYERS, FEMALE CRICKETERS, MALE
FOOTBALLERS and GRADUATES is
Raenf3=il, aifden figaddel, gau Gedicrl, 3R Folldeml & Hasil & i den o1 A8 Rl ygofor 3



[Question ID = 522][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q8]
1. A [Option ID = 2085]
2. B [Option ID = 2086]
3. C [Option ID = 2087]
4. D [Option ID = 2088]

9) What is the product of the number of capital letters and the number of small letters of the English alphabet in the

following text?
fou a1u 2ave (urgw sie1) 3 35|l @ a3 quifsrl &l s a 81 quiigRl &l IR B IVIeIbe T 37
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[Question ID = 523][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q9]
1. 17 [Option ID = 2089]
2. 37 [Option ID = 2090]
3. 53 [Option ID = 2091]
4. 63 [Option ID = 2092]

10) On a track of 200 m length, S runs from the starting point and R starts 20 m ahead of S at the same time. Both reach
the end of the track at the same time. S runs at a uniform speed of 10 m/s. If R also runs at a uniform speed, what is R’s
speed (in m/s)?

v 200 3t oEd T WR, b D ARMI® fig A S, a 3ud 20 30 36l A R, v & PRI SISTll 3IRIY B & ¢ D 3id UR Glell Ub &l AIRT Ugaad
g S 10 3/ bt upmeret 31fer A Sisar 3 Al R 9ft vzrarer a1fer A Sisar 3, R & sifer (sfi/3 ) fpaeit 3?7

[Question ID = 524][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q10]

1. 9 [Option ID = 2093]

2. 10 [Option ID = 2094]

3. 12 [Option ID = 2095]

4. 8 [Option ID = 2096]

11) A plant grows by 10% of its height every three months. If the plant’s height today is 1 m, its height after one year is
the closest to

U Glen &2 diol sidlor 3 srucfl ars @1 10 % 9 oiar 3 Aafe i) B Sars amet 1 @t 3, v adf ugig sadl Sarg o1 frwcda #AeT 3
[Question ID = 525][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q11]

1. 1.10 m [Option ID = 2097]

2. 1.21 m [Option ID = 2098]

3. 1.33 m [Option ID = 2099]

4. 1.46 m [Option ID = 2100]



12)  Starting from the top of a page and pointing downward, an ant moves
according to the following commands

Start

L 4
Repeat actions in curly brackets 3 times

Repeat actions in the box 4 times
Move forward 100 units}

4
urn right by egrees
4 Turn right by 90 d =
4
Turn left by 30 degrees
S »
Of the following paths
A B
C D

Which is the correct path of the ant?



T & o & UeeT 3 3R A= Fir 3R T IR Y, U e
@ gt & HTHIT Tl T
Start
Repeat actions in curly brackets 3 times

=
Repeat actions in the box 4 times
Move forward 100 units

4
~ Turn right by 90 degrees ¢
\ 4
Turn left by 30 degrees
p -
g Tt # &
A B
C D

HIET FT TWET TU RITETE?

[Question ID = 526][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q12]
1. A
[Option ID = 2101]
2. B
[Option ID = 2102]
3. C

[Option ID = 2103]
4. D

[Option ID = 2104]

13) In a four-digit PIN, the third digit is the product of the first two digits and the fourth digit is zero. The number of such

PINs is

U dR-3ibRI fUret 3, eI sidd usd <X 3l T IIeIEd 3 3= dlen 3 9o 3 VA freil bl zizewm 3
[Question ID = 527][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q13]
. 42 [Option ID = 2105]

. 41 [Option ID = 2106]

. 40 [Option ID = 2107]

. 39 [Option ID = 2108]

A W N -

14) After 12:00:00 the hour hand and minute hand of a clock will be perpendicular to each other for the first time at
g3l @ #@e q fBerc gorfol arer arer 12:00:00 @5 U Y dR S URFUR ciddd 3iol, d8 IR 3

[Question ID = 528][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q14]

1. 12:16:21 [Option ID = 2109]

2. 12:15:00 [Option ID = 2110]

3. 13:22:21 [Option ID = 2111]



4.

12:48:08 [Option ID = 2112]

15) At what horizontal distance from A should a vertical line be drawn so as to divide the area of the trapezium shown in

the figure into two equal parts ? (a and b are lengths of the parallel sides.)
forey 31 goIf s1U FIcia aqySI D SIqBcT Bl A1 W3TeT P I fnfSia oot @ ferw A 3 Rpach Siferst ¢ft Uz v Seafer Y1 Ffiach aifde?

(331iaR fSI3ii <bl croars gt aa b )

[
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2.
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b
Question ID = 529][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q15]

(a+ Bb)/4 [Option ID =2113]

(a4 b)/3 [Option ID =2114]

3. (a+ b)/2 [Option ID = 2115]

4

- (2a+b)/2 [Option ID = 2116]

16) | have a brother who is 4 years elder to me, and a sister who was 5 years old when my brother was born. When my
sister was born, my father was 24 years old. My mother was 27 years old when | was born. How old (in years) were my
father and mother, respectively, when my brother was born?

IR b 1S 3 a8 A3RI 4 ad §31 3, 3k v geal & a8 5 adf bl off S IR 91 DI STed 3T AT S A3} Tl BT Slodl 3T AT, IR furen bl 3Ry 24
ad off SI9 I1RT1 Sied 31T ad I3 Al DI 3RY 27 o off S I3 HIS DI Slod 3T AT ad I3 T a Al Dl 3Ry, waAor: (auf 3) ool fi?

[Question ID = 530][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q16]
1.

29 and 23
29 a 23 [Option ID = 2117]

2. 27 and 25

27 @ 25 [Option ID = 2118]

3. 27 and 23

27 a 23 [Option ID = 2119]

4. 29 and 25

29 g 25 [Option ID = 2120]

17) A boy has kites of which all but 9 are red, all but 9 are yellow, all but 9 are green, and all but 9 are blue. How many

kites does he have?
Th cIsd D URT Udal 3 Riotdl A 9 &l 915 9y el aret 8, 9 ol 81 9y wsfl tichl 3, 9 @1 oI A9 wsht 33 3, 3z 9 @I BIs 9y skl oficht

s D uRd fdpdofl udsi 37

[Question ID = 531][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q17]
1. 12 [Option ID = 2121]

2. 15 [Option ID = 2122]

3. 9 [Option ID = 2123]

4. 18 [Option ID = 2124]

18) Tokens numbered from 1 to 25 are mixed and one token is drawn randomly. What is the probability that the number on

the token drawn is divisible either by 4 or by 6?
Jizcifdpa 1 A 25 arer Aol @1 Bifdfa s sirer 3 3iiz U Aidbal AreRed U A xifar sirar 3 A 310 SIdsel U= AIRM BT Alol AT dl 4 A A1

6 21 s 31, 3Ahl YiRiapan fpaoft 3?7

[Question ID = 532][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q18]
1. 8/25 [Option ID = 2125]

2. 10/25 [Option ID = 2126]

3. 9/25 [Option ID = 2127]

4. 12/25 [Option ID = 2128]

19) A beam of square cross-section is to be cut out of a wooden log. Assuming that the log is cylindrical, what
approximately is the largest fraction of the wood by volume that can be fruitfully utilised as the beam?

IDIl D TP g A PIDPR HYFA-PIC DI Th dlH PICI SIloll 3 As Alold §U b cI5T IcTelidR 3, 3IRIdel @ BATd A cIPSI Bl cPBEI fbdon
2B edt 3i9r (1°T) TIMIGRID S @ U 3 IUIST I TR ST ADT & ?

[Question ID = 533][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q19]



. 49% [Option ID = 2129]
. 64% [Option ID = 2130]
. 71% [Option ID = 2131]
. 81% [Option ID = 2132]

A W N -

20) How many rectangles are there in the given figure?
fu a1 foreg 3 fbdor eI 3?7

[Question ID = 534][Question Description = 101_702_PARTA_CSIR_SEPT22_SET1_BIL_Q20]
1. 6 [Option ID = 2133]
2. 7 [Option ID = 2134]
3. 8 [Option ID = 2135]
4. 9 [Option ID = 2136]

Topic:- 702_PARTB_CSIR_SEPT22_SET1_BIL
1) Choose the CORRECT sequence based on albedo of different Earth surfaces.

gedl &t faftieot a8l & uodist & smemR ur 8l foIad ot

[Question ID = 106][Question Description = 121_702_PARTB_CSIR_SEPT22_SET1_BIL_Q21]
1. Snow > Vegetation > Desert sands > Calm water
qu> dorufer> ATt dre> 9l Urofl

[Option ID = 421]
2. Snow > Desert sands > Vegetation > Calm water
qE> B qIc> dorufer> 9l ureft

[Option ID = 422]
3. Calm water > Vegetation > Desert sands > Snow
9lie] Urefl > dorufer > Frserctt IR aw

[Option ID = 423]
4. Calm water > Desert sands > Vegetation > Snow
9lie] Ulel > Fercit arep> dorRufer > aw

[Option ID = 424]
2) Choose the CORRECT statement

A8 Deret ot

[Question ID = 107][Question Description = 122_702_PARTB_CSIR_SEPT22_SET1_BIL_Q22]
1. Low frequency Rossby waves propagate westward in the northern hemisphere.
at 3rqfer areft et a3st 33t it af uftper B 3 Berdt

[Option ID = 425]
2. Low frequency Rossby waves propagate eastward in the northern hemisphere.
at 3irqfer areft 3t a3st 33t aitemet af yd 61 3z deredt

[Option ID = 426]
3. Low frequency Rossby waves propagate eastward in the southern hemisphere.
@ 3gfer arclt et a3t Gfeft siiemet 3 gd b sz Beredt &

[Option ID = 427]
4. Low frequency Rossby waves propagate eastward along the equator.
a1 e arcfl Aell AR31 apgrer I @ Arer-2wer yd b 3l eredl &

[Option ID = 428]
3) Which one of the following is true for a large intraplate earthquake recorded worldwide?

gforen 8 3 siffifeiRaa v gada 3id:wic yu @ feru forarfeiRad 3 A dlel AT Derer At 37
[Question ID = 108][Question Description = 123_702_PARTB_CSIR_SEPT22_SET1_BIL_Q23]



1. Both magnitude and intensity decrease with increase in epicentral distance
siftrdeer ot 3t gfy @ arer uf¥ar sz digar Siell aea &

[Option ID = 429]
2. Magnitude is constant but intensity varies
uf¥smur Ber 3aar 3 cifdbal digar agerd! et 3

[Option ID = 430]
3. Both magnitude and intensity are constant
ufdsmur 3iie digar Slell e & &

[Option ID = 431]
4. Magnitude varies but intensity is constant
Uf33HI0T IGTAr 2B & Afdbor digar e &t 3

[Option ID = 432]
4) Thunderstorms occur more often in the late afternoon and early evening over land because

afSasisn erdl u? 32 Jlus? 3R asd-9Nd & AIRT &l Mfrdaz 3imd 3 a=iifs

[Question ID = 109][Question Description = 124_702_PARTB_CSIR_SEPT22_SET1_BIL_Q24]
1. the atmosphere is mostly stable.
AATRYI RAGIAR 3212 8l &

[Option ID = 433]
2. radiational heating and instability are high.
fafepaur am 3ii si¥erdr aiférm gidl

[Option ID = 434]
3. winds are mostly weak.
B8 SAGIAR BITSIR el &

[Option ID = 435]
4. the atmosphere is mostly dry.
ARV DR IFD &6 &

[Option ID = 436]
5) Which one of the following is ultimate limiting nutrient (on geological time scales) for ocean productivity?

HERIPR Iculcddl @ feru fogsifeiRaa 3 3 dlol-1 v ara HdAia Ulue dca (ydsiford WIRT & Udrel uR) 3?7

[Question ID = 110][Question Description = 125_702_PARTB_CSIR_SEPT22_SET1_BIL_Q25]
1. Nitrate

oSS

[Option ID = 437]
2. Phosphate

BB

[Option ID = 438]
3. Silicate

Riferadde

[Option ID = 439]
4. lron

cllar

[Option ID = 440]

6)  If sea ice constitutes 2% of the ocean water with an average
oxygen isotopic composition (8'%0) of -55%o, then what would
be the 6'°0 (in %o) of an ice free ocean?

e GG U, -55%, DI I Ao FHRIS T (5190)
%ﬂg{%”ﬂaﬁawrrﬁar 2% @, <l St Y HETNR 1 5120, %o H
1 gIT?

[Question ID = 111][Question Description = 126_702_PARTB_CSIR_SEPT22_SET1_BIL_Q26]
1. 0

[Option ID = 441]



2. -5.5

[Option ID = 442]
3. -11

[Option ID = 443]
4. -1.1

[Option ID = 444]

7) [HCO5] and [CO3%] of a seawater sample are 1.8 and 0.25 mM, respectively. What is the carbonate alkalinity (roughly in
eq kg'') of this sample?

AP SIcT D U oiggel D [HCO3] siie [CO3% wparor: 1.8 sitz 0.25 Bl ¥ 5 olgfol DI woralolc SIRIAT (cowT q ~'3) awr 3?
[Question ID = 112][Question Description = 127_702_PARTB_CSIR_SEPT22_SET1_BIL_Q27]
1. 0.45

[Option ID = 445]
2. 2.05

[Option ID = 446]
3. 2.3

[Option ID = 447]
4. 2.55

[Option ID = 448]

8) How is the concentration of dissolved organic matter [DOC] comparable to particulate organic matter [POC] in the open
surface ocean?

HBRIPR @ el Ads 3 faeRia ordform uerel [DOC] &t Aigar @bl ardfora ucret [POC] & getonmr =it 3?7
[Question ID = 113][Question Description = 128_702_PARTB_CSIR_SEPT22_SET1_BIL_Q28]
1. [DOC] = [POC]

[Option ID = 449]
2. [DOC] = [POC]

[Option ID = 450]
3. [DOC] = 10 [POC]

[Option ID = 451]
4. [POC] = 10 [DOC]

[Option ID = 452]

9) ldentify the INCORRECT pair
3Tcid Yo DI Usllol

[Question ID = 114][Question Description = 129_702_PARTB_CSIR_SEPT22_SET1_BIL_Q29]
1. Solute load - Dissolved load
forcter 9112 - forerfRreT o

[Option ID = 453]
2. Bed load - Traction load
IR 9T - DT HIIR

[Option ID = 454]
3. Suspended load - Wash Load
forcifda o1m2 - el (dfor) a2

[Option ID = 455]
4. Traction load - Solute load
YT 912 - FACKRT 92

[Option ID = 456]

10) Mercury has no known natural satellite because of its

eI PI DI S YD UG oIdl 3 53 DI PRI & 3!

[Question ID = 115][Question Description = 130_702_PARTB_CSIR_SEPT22_SET1_BIL_Q30]
1. proximity to the sun.



3t A forapear

[Option ID = 457]
2. slower orbital velocity.
efiaft pafler afer

[Option ID = 458]

3. retrograde motion.
yfemedt aifer
[Option ID = 459]

4. higher temperature.

3cd dIudiol

[Option ID = 460]
11) If the mantle were richer in iron than the present, then its

i Yrar dacdérel &l detoll 3 clis 3 3If2r® AYg W1 Bldl, dl IADT

[Question ID = 116][Question Description = 131_702_PARTB_CSIR_SEPT22_SET1_BIL_Q31]
1. gravity and magnetic fields would be the same as the present.
3[cd 3R GeIhRI 8Ie] Icdtol D el BlT
[Option ID = 461]
2. gravity field would be the same, but the magnetic field would increase.
3[cd 8I7) WG B, cifcbol U 8 a1 gig Bl
[Option ID = 462]
3. gravity field would increase, but the magnetic field would be the same.
e 81 3 gfy Befl, Afbol GadbRI &I, el 3301
[Option ID = 463]
4. both the gravity and magnetic fields would increase.
3[5ca iR GadbiI &1 Glell 91 gfg el
[Option ID = 464]

12) The epicentre of a deep focus earthquake is normally located at a depth (in km) of

316Y IGADG, dIcl YU DI iferadg AT ----- &l s1zE (fpaft 3) U= Rera i 3

[Question ID = 117][Question Description = 132_702_PARTB_CSIR_SEPT22_SET1_BIL_Q32]
1. 2700

[Option ID = 465]
2. 300 to 700
300 a1 700

[Option ID = 466]
3. 70 to 300
70 a1 300

[Option ID = 467]
4. 0

[Option ID = 468]
13) The mean sea level on the Earth is best approximated by which one of the following?

gedl Uz 3iRIA UG dcT DI AR IS 3ioTel fordol 3 A fpAD FRI cPIRN SIar 37

[Question ID = 118][Question Description = 133_702_PARTB_CSIR_SEPT22_SET1_BIL_Q33]
1. WGS 84 Ellipsoid
secjoiieat 84 uferilss

[Option ID = 469]
2. Geoid
ROriss

[Option ID = 470]
3. Oblate Spheroid

sifrcte T35S

[Option ID = 471]
4. Everest Spheroid



TAIT BT
[Option ID = 472]

14) Rayleigh waves

o et
[Question ID = 119][Question Description = 134_702_PARTB_CSIR_SEPT22_SET1_BIL_Q34]
1. propagate as spherical wavefronts

SNCIIDIR A2T] 2U 3 dcedl &

[Option ID = 473]
2. propagate as cylindrical wavefronts

CTolIPIR AMS] D ¥4 3 daddl

[Option ID = 474]
3. travel faster than Love waves

eI sl bt qetolr 9t dlq s1fer A Teredt &

[Option ID = 475]
4. are generated at the hypocenter by an earthquake

DU GRI AAD6G, W 3cUool aldl &

[Option ID = 476]

15) Which of the following meteorites are compositionally and texturally similar to terrestrial basalts?
forratferRaa 3 A Pl A Icpiftis FFdoIPI 3iiR Jollae &l efte A Ferefli Jarcc o A3HToT 37

[Question ID = 120][Question Description = 135_702_PARTB_CSIR_SEPT22_SET1_BIL_Q35]
1. lIron meteorites
clls 3cpIftis

[Option ID = 477]

2. Carbonaceous chondrites
DIATRRIT BISISA
[Option ID = 478]

3. Enstatite chondrites
$6ICCIST DISIECA
[Option ID = 479]

4. Achondrites
CDIFSRA
[Option ID = 480]

16) The decrease in P-wave velocity from ~13.6 km/s to ~8.1 km/s is known to be represented by which of the following

discontinuity?

di-a3er @ Jar A ~13.6 [paft/Ads A ~8.1 fbll/ADs ad &I wdil @) foerfeRaa at A b sRiaadr grr gorkr sirar 3?7

[Question ID = 121][Question Description = 136_702_PARTB_CSIR_SEPT22_SET1_BIL_Q36]
1. Repetti

Ruct

[Option ID = 481]
2. Lehmann

clgdel

[Option ID = 482]
3. Gutenberg
Rreero

[Option ID = 483]
4. Conrad
Dlolds

[Option ID = 484]

17) Which of the following is NOT an example of isomorphic mineral pairs?

forgotferfiac 3t A Dol Aol Tforst Yodl BT IGIE2T o1dl 37



[Question ID = 122][Question Description = 137_702_PARTB_CSIR_SEPT22_SET1_BIL_Q37]
1. Pyrite and Marcasite
UISAST 31 ADRIST

[Option ID = 485]
2. Rutile and Pyrolusite
Fersel 3R URRICRISC

[Option ID = 486]
3. Calcite and Siderite
Derse 3R Bisase

[Option ID = 487]
4. Barite and Anhydrite
Frse 3l volslsSIsTe

[Option ID = 488]

18) Which ONE of the following equations relates horizontal convergence with vertical motion?

forgotfeiRaa A A dlot a1 A1 Siferst sifiTur dY Heaferz sifer A Siisar 3?7

[Question ID = 123][Question Description = 138_702_PARTB_CSIR_SEPT22_SET1_BIL_Q38]

1. Navier-Stokes equation
olfdRIZ- 3T Jefiapur

[Option ID = 489]
2. Vorticity equation

ffareren Jwficpur

[Option ID = 490]
3. Geostrophic balance equation
apfererd! iqgetol AMwhapur

[Option ID = 491]
4. Continuity equation
fordazar Jefiasur

[Option ID = 492]

9 ifz and p are depth and density of seawater, respectively then,
the amplitude of internal wave will

g z 3R p HAL: YL 5T DI TGS AR 9@ &, ol 3l a3
1 S{ITH gl

[Question ID = 124][Question Description = 139_702_PARTB_CSIR_SEPT22_SET1_BIL_Q39]

' increase with decreasing dp/éz

8pldz & Te & TIY T |

[Option ID = 493]
2. decrease with decreasing &p/éz

8pldz o YT & 1Y HH BT

[Option ID = 494]
3. increase with increasing dp/éz

8p/dz b dg- & 1Y dei|

[Option ID = 495]
4. remain independent of changes in dp/dz

8plaz § aftacd W R AT 81

[Option ID = 496]

20) Which one of the following places exposes ‘flysch’ type of sedimentary sequence?



forgatferRaa 3 A1 ®lel AT F2uTol 'fire191’ YPR D AT IR DI IAPR DT 37

[Question ID = 125][Question Description = 140_702_PARTB_CSIR_SEPT22_SET1_BIL_Q40]
. Hyderabad
it

1

[Option ID = 497]
2. Mumbai

Hag

[Option ID = 498]
3. Port Blair

dId &CRIR

[Option ID = 499]
4. Kolkata
DleTDIAr

[Option ID = 500]

21) Which one of the following periods is known as the “Age of fishes”?

forrarferRaa 3 A fop1 raT ol "#BRIl &t 3Ry & U A Sirel Sirar 37

[Question ID = 126][Question Description = 141_702_PARTB_CSIR_SEPT22_SET1_BIL_Q41]
1. Cambrian

DfFgeror

[Option ID = 501]
2. Ordovician
sifstfafdrrer
[Option ID = 502]
3. Devonian
Sdlforret

[Option ID = 503]
4. Silurian

Rigjf¥eret
[Option ID = 504]

22) The strengthening of westerlies with height above the Earth’s surface is attributable to the

gedl 6l s A FU= HArE D AT UFIM I3l D FASIGA 2l BT BRI &

[Question ID = 127][Question Description = 142_702_PARTB_CSIR_SEPT22_SET1_BIL_Q42]
1. weakening of easterlies with height
SIS D A YA DI DIGiR Bloll
[Option ID = 505]
2. increasing north-south temperature gradient with height
IR-Gf81uT AmeTel yauidr 3 ars © M gy
[Option ID = 506]
3. decreasing atmospheric pressure with height
A D AT ARSI gara 3 daft
[Option ID = 507]
4. increasing height of the tropopause towards the equator
9J91e] A b 3R gibvmisel b Hars ¥ iy
[Option ID = 508]

23) In the context of ecosystem biodiversity evaluation, the species of organisms that are particularly sensitive to
pollutants, human interferences, ecosystem instability or other such disturbances are referred to as

aii:R-efere dq Sia fafeerar Jcaicvot @ e i, Shial &I genieri st {9y u A yguwml, AR s3asiul, uriiFaferb! dq iR-erRdr AT siea

At fagisr @ yfer Jidcarefia &, ol war siar 3

[Question ID = 128][Question Description = 143_702_PARTB_CSIR_SEPT22_SET1_BIL_Q43]
1. vulnerable species

Jater ystierI
[Option ID = 509]



2. indicator species
@ e
[Option ID = 510]

3. sensitive species
Jidgatofter yaufer
[Option ID = 511]

4. keystone species
olifdrenr (bizclon) ysuferRi

[Option ID = 512]
24) A freely suspended magnetic needle will be vertical at

[Question ID = 129][Question Description = 144_702_PARTB_CSIR_SEPT22_SET1_BIL_Q44]
. Geographic Equator
sflollfera apgre=T 31

1

[Option ID = 513]

2. Geomagnetic Equator
STacOIRI fgIe=T 3T
[Option ID = 514]

3. Geographic poles
sflolferd ga
[Option ID = 515]

4. Geomagnetic poles
apgarhter ga
[Option ID = 516]

25) The stability of the boundary layer can be considered neutral when the vertical gradient of the potential temperature
is

Mo uza &t Ferar oI dczel Al ST JAbdl 3 S AsIfdd draearet &I Heaferr gavrar 3l 3

[Question ID = 130][Question Description = 145_702_PARTB_CSIR_SEPT22_SET1_BIL_Q45]
1. Equal to the Dry Adiabatic Lapse Rate
D B ffeid 62 D SRR
[Option ID = 517]
2. Equal to the Moist Adiabatic Lapse Rate
ol IgIed fcid 63 D dRIa
[Option ID = 518]
3. Zero
oot
[Option ID = 519]
4. Negative

OIDRICHD

[Option ID = 520]
26) Which planet has the highest orbital angular momentum?

fop1 55 @1 Deiikn wivfir FHdeT STadaa axar 3?7

[Question ID = 131][Question Description = 146_702_PARTB_CSIR_SEPT22_SET1_BIL_Q46]
1. Jupiter

gaufer

[Option ID = 521]
2. Saturn

offer

[Option ID = 522]
3. Mars

Ficie

[Option ID = 523]
4. Earth



gedt
[Option ID = 524]

27) In areas modified by glaciers, kames represent:

fRare1ct gre1 dHenfera gl A dar yfeferferra waa 32
[Question ID = 132][Question Description = 147_702_PARTB_CSIR_SEPT22_SET1_BIL_Q47]

1. A detached block of glacial ice.
331016 I DI UP 3[ePI sclid

[Option ID = 525]
2. Remnants of disjointed lateral moraines.
3Ridqg urd f3alie @ srao

[Option ID = 526]
3. Mounds of stratified sands and gravels.
Il 3 3R Tt D el

[Option ID = 527]
4. Terraces formed in valley sidewalls due to change in glacial mass balance.
831011 D GerIdAIel idjetol I Uf¥dadol @ PRuI &t ¥ urd Sari w dfgwr o

[Option ID = 528]
28) Which one of the following is NOT a zonal soil?

forgotfcii3aa 3 A ®lol-3Hl v gicfiar gor o1dl 37

[Question ID = 133][Question Description = 148_702_PARTB_CSIR_SEPT22_SET1_BIL_Q48]
1. Podsol
s

[Option ID = 529]
2. Chernozem
Aollold

[Option ID = 530]
3. Saline and alkaline
RT3 gI3kT

[Option ID = 531]
4. Pedalfer
UScIH

[Option ID = 532]
29) In standard FCCs, red stands for vegetation because:

Aloicd WA &, circt 391 gorrufil @ e Rar 3 aRiifp:

[Question ID = 134][Question Description = 149_702_PARTB_CSIR_SEPT22_SET1_BIL_Q49]
1. For strategic purpose, true colours are not disclosed.
I 359 @ e, 3riclt 51l DI Welr ofdl fober Sirr 8

[Option ID = 533]
2. Green band of the sensor is in shown red.
G DI A IS et 91 I fSHRT sRI &

[Option ID = 534]
3. NIR band of the sensor is represented in red.
JAdGD DI TolIIS3AR &S cllel 351 31 GIIRIl 31l &

[Option ID = 535]
4. Reflectance of chlorophylls is processed as red by the satellite sensor
3UBJE AAGD GRI TARIbE DI URAAGID ciict 30T & J=Aiferd fpe Siar 3

[Option ID = 536]

30) Development of the Earth’s tidal bulge on the opposite direction of the moon is best explained by:

dgann &t fradia o 3 gedt & sardi 3UR o1 fbrRT SRI AT 3l a6 I AHASIRI SR 3
[Question ID = 135][Question Description = 150_702_PARTB_CSIR_SEPT22_SET1_BIL_Q50]



1. Centripetal Force
MDY Tt
[Option ID = 537]

2. Gravitational force
S[BAIDHUI el
[Option ID = 538]

3. Centrifugal force
3Udeg) del
[Option ID = 539]

4. Coriolis force
PIf¥3NfeRT de1

[Option ID = 540]

31) Water flows in the river channel transporting fine sediment and dissolved material, but its gradient, form and elevation
above sea level remain essentially the same. This type of equilibrium is defined as

&l 311 Urofl 616t bl &t 3 ko1 aeree ik geil 3¢ APR] afda o 3, dfvel g dct A sAdl gyav, »u iR Hard siferart wu A A6
WBell 3 33 YpR D Aderd Bl 37 YR ufdsnfea fesn sri 3:

[Question ID = 136][Question Description = 151_702_PARTB_CSIR_SEPT22_SET1_BIL_Q51]
1. Static
FAferd

[Option ID = 541]
2. Dynamic
siferofter

[Option ID = 542]
3. Decay
&I

[Option ID = 543]
4. Cyclic
sy

[Option ID = 544]

32) Identify the type of mass movement

[Question ID = 137][Question Description = 152_702_PARTB_CSIR_SEPT22_SET1_BIL_Q52]
1. Rotational slide

guff Fxactol

[Option ID = 545]
2. Rotational slump

goff sraad

[Option ID = 546]
3. Rock fall
et urT

[Option ID = 547]
4. Solifluction
ForRIdur

[Option ID = 548]
33) Which one of the following is an example of impeded sand dune?

forgsiferae 31 3 Blel AT AU ¥ oed @I IgTBWT 3?7



[Question ID = 138][Question Description = 153_702_PARTB_CSIR_SEPT22_SET1_BIL_Q53]

1. Barchan
AMUIDR fesar

[Option ID = 549]
2. Transverse
3opyel fesar

[Option ID = 550]
3. Star
arr fesar

[Option ID = 551]
4. Parabolic
WRAcIRp feear

[Option ID = 552]

34) If the density of a compact rock of sandstone is 2.5 gm/cc, then what will be its density (in gm/cc), if it is 10% porous
and water saturated?

AfS S¢I3 uceR I v A6 il @I "oled 2.5 gm/cc 3, Al s 10% =) 3= Siet A 3 dl 3ADI goled (gm/cc ) T aen?
[Question ID = 139][Question Description = 154_702_PARTB_CSIR_SEPT22_SET1_BIL_Q54]
1. 2.25

[Option ID = 553]
2. 2.3

[Option ID = 554]
3. 2.35

[Option ID = 555]
4. 2.4

[Option ID = 556]

35) Kepler’s third law of planetary motion is represented by which one of the following expressions? (here P = orbital
period;a = semi-major axis of the planetary orbit)

DR D gl bl a1fecl D i formw oI foraifeiRaa 3 A v =isto ERI gt sri 3?7 (st P = el sraf?r; a = sl e of aref-gz=a 3181)
[Question ID = 140][Question Description = 155_702_PARTB_CSIR_SEPT22_SET1_BIL_Q55]
1. P3a a2
[Option ID = 557]
2. P2g a3

[Option ID = 558]
3. P3gal

[Option ID = 559]
4. P2aa?

[Option ID = 560]
36) Which one of the following is the fastest moving plate?

forgsifer3aea 3 3 wlel ASA sl 31fex A faraitya ol arcil wie 3?7

[Question ID = 141][Question Description = 156_702_PARTB_CSIR_SEPT22_SET1_BIL_Q56]

1. Nazca
SITIT

[Option ID = 561]
2. Eurasia

ORI

[Option ID = 562]
3. Africa

Riuiica

[Option ID = 563]
4. North America
I3 ¥t



[Option ID = 564]

37) Downward bending of isotherms is commonly observed in which of the tectonic settings?
JHFrardiRil @1 ofiY bt 3R Favon ARIGI: b fdadfors faearT # Sar smar 3?7

[Question ID = 142][Question Description = 157_702_PARTB_CSIR_SEPT22_SET1_BIL_Q57]

1. Subduction zone
ATSTIT SiloT
[Option ID = 565]

2. Volcanic arc environment
SarelgdRl ara arAraor
[Option ID = 566]

3. Craton interior
B otz
[Option ID = 567]

4. Divergent plate boundary
RIS wele e

[Option ID = 568]
38) Which one of the following ore deposits is typically formed by magmatic segregation process?

forraiferRaa 3 A Plel AT 3RRG 181U 3PIAR UR o3RI Yeres Aol YR GRI doldr 37

[Question ID = 143][Question Description = 158_702_PARTB_CSIR_SEPT22_SET1_BIL_Q58]
1. Porphyry copper

st Biu

[Option ID = 569]
2. Bauxite

dIqRAISC

[Option ID = 570]
3. Chromite
DIAST

[Option ID = 571]
4. Phosphorite

BRBRISC

[Option ID = 572]

39) A seismic phase which has undergone a single reflection is

Qo> Yopula @rul 31213 wp & urradet gan 8, a1 &
[Question ID = 144][Question Description = 159_702_PARTB_CSIR_SEPT22_SET1_BIL_Q59]
1. PKIKP

[Option ID = 573]
2. pPcP

[Option ID = 574]
3. PP

[Option ID = 575]
4. PKP

[Option ID = 576]

40) Which one of the following basins form in collision zones?

forgaiferRaa 3 A1 Plel-A1 v Qo agot &gl A Forar 37

[Question ID = 145][Question Description = 160_702_PARTB_CSIR_SEPT22_SET1_BIL_Q60]

1. Fore Arc
3P[AT (W12 30P)

[Option ID = 577]
2. Foreland

g (wrdls)



[Option ID = 578]

3. Back Arc
ardan (3 3ias)
[Option ID = 579]
4. Pull apart
el eurid
[Option ID = 580]
41) An air mass is characterized by similar properties of and in any horizontal direction.

fopett oft Sifersr Rom af ____ afie ____ @ 1m0l 31u1 Uep ary Afdr bt fardraar axcht 3

[Question ID = 146][Question Description = 161_702_PARTB_CSIR_SEPT22_SET1_BIL_Q61]

1. pressure, temperature
GdId, Aol
[Option ID = 581]

2. wind speed, pressure
ary & sifer, gara
[Option ID = 582]

3. wind speed, temperature
ary &t sifer, At
[Option ID = 583]

4. temperature, moisture
Adel, ot

[Option ID = 584]

42) In which of the following weather systems the contribution of the Coriolis force can be neglected in the balance of
forces?

acll @ Jderel H, PIRBIRRT da D APIcel & U, foreifeiRaa 3 2 fpar dAiwra gunedl # &1 s Al 3?7

[Question ID = 147][Question Description = 162_702_PARTB_CSIR_SEPT22_SET1_BIL_Q62]

1. Tornado
qas3
[Option ID = 585]

2. Tropical Cyclone
IwrpfeeliRn aamara
[Option ID = 586]

3. Monsoon Depression
o130l STt
[Option ID = 587]

4. Polar Vortex
grier siaz
[Option ID = 588]

43) Which one of the following options is the best way to protect yourself from lightning if you get caught in an open field
during a thunderstorm?

Afe 3g SRSIare! qulel 3 ¥l AGIel 3 BA S 3, dl il Brol 2 g o1 gare @ fere fowerferRaa 3 3 Bla a1 fRrvcu AR 3reaT adier 37

[Question ID = 148][Question Description = 163_702_PARTB_CSIR_SEPT22_SET1_BIL_Q63]
1. Lie flat on the ground with your face down
38 D qeT Swffel w2 A cie S

[Option ID = 589]
2. Take shelter under the nearest tree
forpeast Us @ ofla 3Rt of

[Option ID = 590]
3. Crouch on your toes.
3ol U2 &t orferil w gD

[Option ID = 591]



4

. Stand straight up.
3 TS B S

[Option ID = 592]

44) Choose the correct combination of the processes that contribute to the global sea level rise.

dffa® 3G TR A gig I APIere Sol arcl giiprnsil T A8l FRIISIel ot
[Question ID = 149][Question Description = 164_702_PARTB_CSIR_SEPT22_SET1_BIL_Q64]

1.

Arctic sea ice melt, sea surface warming
SMMIeD AL I I [Ueciol, WG DI Ads DI 3wl aloll

[Option ID = 593]
. Warming of the ocean, land ice melt
FERIPR DI oW Bloll, 9fI1 I DI fUecion

[Option ID = 594]
. Antarctic and Arctic sea ice melt
et 3R MDD AP IB DI fUecton

[Option ID = 595]
. Underwater volcanic eruption, earthquakes
umell @ #fiaR Sarcigxd firwie, sou

[Option ID = 596]

45) How does the depth of the ocean relate to the age of the ocean floor?

HBRIPR I 316U AdG <Icl DI 3IRY A DA A« 37
[Question ID = 150][Question Description = 165_702_PARTB_CSIR_SEPT22_SET1_BIL_Q65]

1.

It increases with age
UG 3R] D ATl ol 3

[Option ID = 597]
. It decreases with age
B 3 D A decdl Sl &

[Option ID = 598]

3. It is independent of age

S 3RY A A 3
[Option ID = 599]

4. It decreases until 55 Ma

°5 55 Ma am gcddt st

[Option ID = 600]

46) In a cloud formation mechanism, cloud base and cloud top, respectively, are represented by

arcet foraator deq 3, arcer smen? 3ii aGa ORAR, ML, GRI SoIu S 3

1.

[Question ID = 151][Question Description = 166_702_PARTB_CSIR_SEPT22_SET1_BIL_Q66]
Planetary boundary layer and Level of free convection
3[el bl 3flen ud 3l P Adsel DI IR

[Option ID = 601]

2. Planetary boundary layer and Lifting condensation level

3[el bl 3fem ud 3l 3G B3 Heolel IR

[Option ID = 602]

3. Lifting condensation level and Level of free convection

3ol B3I Aeolol IR 32 FD AT DT FR

[Option ID = 603]

4. Planetary boundary layer and Level of saturation

S8l i e wd IR AGR BT IR
[Option ID = 604]

47) Which one of the following indicates that the mantle is solid?



forgatfcri¥aa 3 A Dol AT P ®al & b yar okT &7

[Question ID = 152][Question Description = 167_702_PARTB_CSIR_SEPT22_SET1_BIL_Q67]
1. Mantle convection

YR Adsol

[Option ID = 605]
2. Phase transformation

aur uf¥acder

[Option ID = 606]
3. Propagation of S waves
‘g’ el BT PR

[Option ID = 607]
4. Subduction of a slab to a depth of 600 km
uep foren a1 600 fopatt b s16Is AdD AFasT9NIeT

[Option ID = 608]

48) The longest mountain chain on the Earth is

gedl Uz JeR] cidl udd 9 &
[Question ID = 153][Question Description = 168_702_PARTB_CSIR_SEPT22_SET1_BIL_Q68]
1. Himalaya

f3aarerRr

[Option ID = 609]
2. Mid-Atlantic ridge

FHEA-3ICCIIICD DD

[Option ID = 610]
3. Andes

ST

[Option ID = 611]
4. Alps
Eige:1

[Option ID = 612]

49) Which one of the following rivers of the Ganga system is a perennial, dominantly groundwater-fed river?

3io1 cie| bl forgsifeiRan oifeRil 3 A wior-Al v Fraa: ysicr NIRRT AcTofl o1l 37

[Question ID = 154][Question Description = 169_702_PARTB_CSIR_SEPT22_SET1_BIL_Q69]
1. Son

et

[Option ID = 613]
2. Gomti

Rt

[Option ID = 614]
3. Pindar

st

[Option ID = 615]
4. Yamuna

Aol

[Option ID = 616]

50) Radiocarbon activity in a sample is found to be 14 of the initial activity. If the half-life of the radiocarbon is 5700
years, then the age (in years) of the sample is

b yfereef 3 YRiwrder sAfperar, s Afpeiar &t V4 urht o AR MRwrdor &Y sref-3meg 5700 af 3, &t yfergef &t sy (af 3) B

[Question ID = 155][Question Description = 170_702_PARTB_CSIR_SEPT22_SET1_BIL_Q70]
1. 1425

[Option ID = 617]



2. 5700

[Option ID = 618]
3. 11400

[Option ID = 619]
4. 22800

[Option ID = 620]

Topic:- 702_PARTC_CSIR_SEPT22_SET1_BIL

1) Choose the CORRECT option based on the following two statements (I) and (ll):

Statement I: Transient geotherms typically describe the temperature-depth relationship at a given time for a specific
geographic location.

Statement II: Collision of lithospheric plates lead to crustal thickening and disturbs the pre-tectonic steady- state geotherms.

forraiferRaa &1 el (1) siiz (1) & smeR uz & fawcu ol
Dol |: giforn sfardiz, v fafdree siishiferd Ferel @ fore v GU 31U R 3 AIUHIel-316E @ AdE BT YU aviel B &
el |: FereriseiR wicl & Fagel @ Brur yuddl A A sicdl 3 sl gd-faadfors- rend gom, srardizi o fashfira o &

[Question ID = 156][Question Description = 171_702_PARTC_CSIR_SEPT22_SET1_BIL_Q71]
1. Both the statements are correct
Glall deral A8t 3
[Option ID = 621]
2. Both the statements are incorrect
GIoll deral SIcld 3
[Option ID = 622]
3. Statement | is correct but Il is incorrect
Doyl | 3@ 8 aifcpar 1l srcta 2

[Option ID = 623]
4. Statement | is incorrect but Il is correct
@erot | srerd 3 aifcpor |1 218 8

[Option ID = 624]

2) Choose the correct sequence of porphyroblast growth (from the oldest to the youngest) based on the figure showing
relationships between porphyroblast growth and matrix foliations.

dRBIRIsRT giy 3R e 9Icwel @ i el @l collel arel sl @ 3MER U URBISAIeRT giy (AR YRI06T A AR oidloldd ad) I
F& a9 gol

NRRRARARAL -
RARRARARN . o
LU

e

[Question ID = 157][Question Description = 172_702_PARTC_CSIR_SEPT22_SET1_BIL_Q72]
1. X=2Y—oZ

[Option ID = 625]
2. Y=>Z—-X

[Option ID = 626]
3. Yo X—o1Z

[Option ID = 627]
4, X=1-Y

[Option ID = 628]



3)  The following diagram shows phase relations for the orthoclase
(KAISiaOs)—albite  (NaAlSisOs) system at constant pressure. If

‘S’ is the initial composition of magma, what is the
proportion (%) of perthite and antiperthite crystallized from this
magma at 550 °C?

19 o @R 3@ IR 3Tfaeivl (KAISi:O:)-Uealge (NaAlSizOs)
TUITe! o forT Trareyr Teel &1 gxiidr 81 afe 's' 39 &I IR
LT, Tl 550 °C IR 59 71 ¥ foheeelidhd uyige ok Uciuyige

T T (%) T 32
SO0
Liguid (L) 3
_ BO0H :
o = |
g 7004 !
‘!é ~
E‘ 00
B 550+

[Question ID = 158][Question Description = 173_702_PARTC_CSIR_SEPT22_SET1_BIL_Q73]
1. 42% perthite; 58% antiperthite

42% uerfse; 58% wcluerise

[Option ID = 629]
2. 58% perthite; 42% antiperthite

58% uerlsc; 42% vciuerise

[Option ID = 630]
3. 70% perthite; 30% antiperthite

70% werise; 30% vdiuerise

[Option ID = 631]
4. 10% perthite; 90% antiperthite

10% werfse; 90% teluerfse
[Option ID = 632]

4) The pitch of a slickenline on a fault slickenside (230°, 48° SW) is measured to be 90°. Which one of the following is the
correct plunge amount of the slickenline?

T 991 eliderIrss (230°, 48° SW) ur clidotcirsat i sigretfer 90 ° it Sirct 8 fororfeiRaa 3t 21 lol Telidolciisol I Sl 3Idoldiel UfAOT
8?7

[Question ID = 159][Question Description = 174_702_PARTC_CSIR_SEPT22_SET1_BIL_Q74]
1. 90°

[Option ID = 633]
2. 81°

[Option ID = 634]
3. 48°

[Option ID = 635]
4. 42°

[Option ID = 636]
5) In the Himalaya, which one of the following is the correct sequence of in-sequence thrusts from north to south? (STD -

South Tibetan Detachment; MBT - Main Boundary Thrust; MCT - Main Central Thrust; MFT - Main Frontal Thrust; ITSZ -
Indus-Tsangpo Suture Zone)

RBarerr 3, forgetferRaa & A ®lol AT 3R A g1 b 3R AgRPID Y I A a1 3?7 (W3] - ARy el eadic wadld - e aEg ge;



IAIEY - do1 e Ye; THAUHE - ol BeaYc; AEATAISIS - Rigg-caisral IJar Site)

1.

[Question ID = 160][Question Description = 175_702_PARTC_CSIR_SEPT22_SET1_BIL_Q75]
ITSZ, STD, MCT, MBT, MFT
sdiuRls, wActst, wiRild, wardict, wauwdt

[Option ID = 637]

2. MFT, MBT, MCT, STD, ITSZ

wewd, vadld, wrid, vadsl, srEduns
[Option ID = 638]

3. ITSZ, MCT, MBT, STD, MFT

sgctoers, vafld, vadld, vadisl, vauwdt
[Option ID = 639]

4. MBT, MFT, STD, ITSZ, MCT

wadld, vaund, vAdsl, snsdiums, vafict
[Option ID = 640]

6) Three fossils (Ec, Mc and Vt) are present in two continents and the following are true: a. Ec, Mc and Vt have
a short temporal range.

b. Vt and Mc have hard skeleton.

c. Ec, Mc and Vt live in lakes, grassland, and in shallow marine environments, respectively.

d. Ec is a microfossil; Mc and Vt are megascopic fossils.

Which fossil would you choose for correlation?

et Sitfarear (Ec, Mc siiz Vt) d ssidial 3 disig & ik forsaiferRaa s 3t

a. Ec, Mc siiz Vt & wifere smaf?r 81 aidl @

b. Vt sl Mc & @O Do 3

c. Ec, Mc 3iiz Vt agaror: siicll, a1 @ dcrell 3Tz 3erct APSH ardararor 3 3B 3
d. Ec ue Jyga sharea 3; Mc 3iiz Vt FecoR sitared &

AsAde @ fere 3y fopa Siiared @I goiol?

[Question ID = 161][Question Description = 176_702_PARTC_CSIR_SEPT22_SET1_BIL_Q76]
1. Ec
[Option ID = 641]
2. Mc
[Option ID = 642]
3.Vt
[Option ID = 643]

4. Ec and Mc are equally good
Ec 3z Mc w6t u 3 3res &

[Option ID = 644]
7) Absence of which one of the following played a role in preserving soft-bodied organisms of Ediacaran fauna?

forgsiferae 3 3 oAbl srefuiefer of slRar 9l arcl eldarmret Siidl @1 AM3ra oo A yfdror forsrs?

[Question ID = 162][Question Description = 177_702_PARTC_CSIR_SEPT22_SET1_BIL_Q77]
1. oxygen in the atmosphere

arAraRur 3 sifafistor

[Option ID = 645]
2. stromatolites

FQICICIIST

[Option ID = 646]
3. acidifying conditions
sFciiapzor uf¥f3erferit

[Option ID = 647]
4. mobile/bioturbating organism
ACTRIAIoT/ ARNCAfEST Sfia



[Option ID = 648]
8) Choose the correct statement:

H8l Dol Joi:

[Question ID = 163][Question Description = 178_702_PARTC_CSIR_SEPT22_SET1_BIL_Q78]
1. Ichnofacies indicates paleobathymetry.

SDOIDIORI, YRI-3PNiR I S Bl &

[Option ID = 649]
2. Ophiomorpha is a horizontal burrow along the bed boundary.

SiBlNw 2z &t 2 & rer v &iferst et 3

[Option ID = 650]
3. Laminae truncate against burrow.

FAR®1 e @ fRAisg weddt 3

[Option ID = 651]
4. Thalassinoides is only produced by crabs.

[Option ID = 652]

9) Which one is the correct statement out of the following?

forgatfeiRaa & A ot AT A8 BereT 37

[Question ID = 164][Question Description = 179_702_PARTC_CSIR_SEPT22_SET1_BIL_Q79]
1. Maximum flooding surface occurs above the highstand systems tract deposits.

SMfAIDAH 16 Yt 3¢S Yuilell 81 forglu @ 3Hu2 alar 3

[Option ID = 653]
2. Regressive surface of marine erosion forms during forced regression.

SRl YfePRIol O GIRI6l AdG! Deld Dl Yiepmdd gto doldt &

[Option ID = 654]
3. Shelf edge delta forms during highstand normal regression.

BISICS AR Yfeolel D GI2I6l U ¢ Scel doldl &

[Option ID = 655]
4. Rate of sea level rise is lower than the rate of sedimentation during transgression.

MG el D IR 3 gl 6 &2 sraiIGer B 52 A siferapuvr D Siiet wa S

[Option ID = 656]

10) The following shear zones occur in the Southern Granulite Terrain
SASZ - Salem-Attur shear zone

AKSZ - Achankovil shear zone

PCSZ - Palghat-Cauvery shear zone;

KKPT - Karur-Kambam-Palnavu-Trichur shear zone

The correct sequence of shear zones along a south to north traverse is

sfamoft S)ererrse spieT 3 foraifeRaa srusuvr 8 3

SASZ - JcIH-32 3URRUYI 8i];

AKSZ - 3rIeIopiferet sruzeuvt i

PCSZ - urcrane-wrast 3razsuvr gid;

KKPT - @3- aad-Uciolig-fo[gR 3Mazsuvr giq|

cf3ror A IR DI 3R AUBULT i DI J BA

[Question ID = 165][Question Description = 180_702_PARTC_CSIR_SEPT22_SET1_BIL_Q80]



1. AKSZ - KKPT - PCSZ - SASZ

[Option ID = 657]
2. AKSZ - SASZ - PCSZ - KKPT

[Option ID = 658]
3. KKPT - PCSZ - AKSZ - SASZ

[Option ID = 659]
4. SASZ - PCSZ - KKPT - AKSZ

[Option ID = 660]

11) Critical entrainment velocity for grains

A. larger than 0.5 mm increases gradually with increasing mean grain size
B. smaller than 0.5 mm increases gradually with decreasing mean grain size
C. larger than 0.5 mm decreases gradually with increasing mean grain size
D. smaller than 0.5 mm decreases gradually with decreasing mean grain size
Based on the above statements, which one of the following options is TRUE?
wifere JAsvr Jo1

A. 0.5 B3l 2 a3 oull & R, 3iiRkIa o1 & PR 3 gy & Arer -l agar 3

B. 0.5 fipfl A B wvit & kA, HRAA ovit D PR I DIt B AT eR- agar 3

C. 0.5 il A a3 ovil @ RA, FRIA il D FRDPR A gig D AT R-¢R Tear 3

D. 0.5 Bifl A BI wvit & fr, M il S IDR 3 Bl o Arer efi¥-ei acar 3
SURITD Peoil @ ATER U, forgorfctRad i A dlel AT faadcu AT 3?7

[Question ID = 166][Question Description = 181_702_PARTC_CSIR_SEPT22_SET1_BIL_Q81]
1. Aand B
A3z B

[Option ID = 661]
2. CandD
CaeD

[Option ID = 662]
3. Band C
Baiz C

[Option ID = 663]
4. Aand C
4. A3z C

[Option ID = 664]

12) Using the following garnet-melt trace element partition coefficients, the correct sequence of trace elements
accommodated in garnet mineral structure during its crystallization from a basaltic magma is

forgotferRaa smofe-aifera Jgar mfee ara fAISIer VT BT IWRNPT BT §U, JAIfeed Foar A Rpzeciiaur & Sizret s6ie Fforst o 3
AARNRIA P Ffefd acdl o1 A8 a3 3

Element Partition coefficient

Y = Yitrium 8.500

Sm — Samarium 0.870

Gd — Gadolinium 2.550

Lu — Lutetium 13.700

[Question ID = 167][Question Description = 182_702_PARTC_CSIR_SEPT22_SET1_BIL_Q82]

1. Sm - Gd - Y — Lu

[Option ID = 665]
2. Lu—Y—Gd— Sm

[Option ID = 666]
3. Y>Sm - Gd — Lu




[Option ID = 667]
4, Y- Lu— Gd — Sm

[Option ID = 668]
13) Where would you expect the highest CaCO.; production within an ocean basin?

3T b ABRIPERRI Qufl (3f37101) @ sfiar Staast CaCO.3 3curcal bl 3MUgI bl dId1?

[Question ID = 168][Question Description = 183_702_PARTC_CSIR_SEPT22_SET1_BIL_Q83]
1. Continental shelves

FBIGIURT Ilcw

[Option ID = 669]
2. Continental slopes

aBIgiititer gaor

[Option ID = 670]
3. Pelagic Ocean
YT FABRIPR

[Option ID = 671]
4. Oceanic rift valley
HBRIPRRI f¥ue ardt

[Option ID = 672]

14)  Antarctic and Greenland ice sheets store today about 2% of the
ocean water mass with an average %0 value of —45%o w.r.t.
SMOW. What would be the §*20 of value (in %0) of the ocean
water in an ice free world?

JeTdhicd 3R A DI 9% Pl Aad S GFR & THI & GadH
&I AU 2%, 5180 3MTd HET —45%0 SMOW & TIUel, & 1Y
Hufed Hdl 81 9% Had giHar § GH% & UHI $T 5220 of &1 A
(%o ¥) T ER?

[Question ID = 169][Question Description = 184_702_PARTC_CSIR_SEPT22_SET1_BIL_Q84]
1. 0

[Option ID = 673]
2. -45

[Option ID = 674]
3. -0.9

[Option ID = 675]
4. 9

[Option ID = 676]

15) Arrange the following events in the order of increasing age:
A. Younger Dryas

B. Meghalayan Stage

C. Last Glacial Maximum

D. H1 Heinrich event

Choose the correct option

forgarferRara ercomail @Y gl ¢ 3y & ot A craf¥era Hifsre:
A. IR 3E3RA

B. JrEmcerre ¥t

C. dre scifisa fdemme



D. H1 Zeifsw sdc

Al faeu got

[Question ID = 170][Question Description = 185_702_PARTC_CSIR_SEPT22_SET1_BIL_Q85]

1. A,B,C,D

[Option ID = 677]
2. B,C,D, A

[Option ID = 678]
3. B,A, D, C

[Option ID = 679]
4. B,D, A, C

[Option ID = 680]
16) Occurrence of Fe-Mn nodules in an ocean basin implies

T ABRIPEI daf3ter d Fe-Mn fiist & suferfer $R1a ot 3

[Question ID = 171][Question Description = 186_702_PARTC_CSIR_SEPT22_SET1_BIL_Q86]

1. Low sedimentation rate and stable environmental conditions.
il IAATGol G2 3R Rer ueifazvfier Ferfer

[Option ID = 681]
2. Proximity to the Mid-oceanic ridge.
FHEA-HBRIPERI B A forapedr

[Option ID = 682]
3. Presence of ocean core complex.
HBRIPR DI DiFtcrad bl Jufderfer

[Option ID = 683]
4. Presence of benthic organisms.
forcrerzer Sfidi &bt 3ufderfer

[Option ID = 684]

17) Calculate the ratio of the transverse strain to longitudinal strain in a granite sample which has a P wave velocity of 6
km/s and the value of the Lamé parameter A is twice that of the shear modulus of the rock sample.

U Ielrse olel 3 3y famfer iR sreiset fapfer @ sroqura & s1vren @3 KRt P a1 @1 de1 6 fpafl/Ads 3 8l cidl (Lamé) trmfiez A @1
Jro1 9¥et yfercef & rareuvt JHigYerRI A SRl 3

[Question ID = 172][Question Description = 187_702_PARTC_CSIR_SEPT22_SET1_BIL_Q87]

1. 0.23

[Option ID = 685]
2. 0.25

[Option ID = 686]
3. 0.33

[Option ID = 687]
4. 0.38

[Option ID = 688]

18) A near surface local earthquake is recorded by a station at the surface at an epicentral distance of 120 km. Assuming a
homogeneous, isotropic medium with a Poisson ratio of 0.25 and P wave velocity of 6 km/s, calculate the difference in the
arrival times of the S and P waves at the station. Choose the correct option.

o 3PRR (PRR IRWBA) T YU, b gts 396 gRI 120 bl &f siferdodi=r ¢fl uR ool i Siar 3 v JeReU, AASCIID HIEIH Aol
gu f3rRImT Ui sropurd 0.25 3iik S P aze1 der1 6 fpeil/Ads 81, F¢9lel UR Ugtlel dlcil S 31k P a3sll @ 31emeiel @ A 3 3icR DI S1vlel

@3 Al faweu goi
[Question ID = 173][Question Description = 188_702_PARTC_CSIR_SEPT22_SET1_BIL_Q88]
1. 12.6s

[Option ID = 689]
2. 13.6s

[Option ID = 690]



3. 14.6s

[Option ID = 691]
4. 15.6's

[Option ID = 692]

19) In a two-way travel time seismic section with 101 traces and a trace interval of 100 m, the depth to 1.0 s is 1000 m
and the interval velocity between 1.0 s to 1.5 s is 3000 m/s. The dip of the reflector that is observed at 1.080 s and 1.050
s on the first and last trace, respectively, corresponds to a gradient of

uw, foaeil Farur Ier yodi Fs 3, 101 segavr iz 100 e @ 3iepa siarrel @ 12, 1 s & s 1000 e 3R 1.0sA 1.5s D
e siarret ae1 3000 3fice/uds 3 urrade &l &fer, St usel 3 sifenr srepea ur qrer: 1.080 s 3iiz 1.050 s uz= goleflar 3, &I gaurar
@ AT vl

[Question ID = 174][Question Description = 189_702_PARTC_CSIR_SEPT22_SET1_BIL_Q89]
1. 3 m/km
3 e/ fopatt

[Option ID = 693]
2. 3.5 m/km
3.5 e/ fopatt

[Option ID = 694]
3. 4 m/km
4 dfice/ fopaft

[Option ID = 695]
4., 4.5 m/km
4.5 &t/ fooatt

[Option ID = 696]

20
) Match the logging tools in column | with their corresponding

characteristics in column ||

Column | Column Il
P Lateral Log A | Depth of investigation is twice
spacing
Q | Deep Laterolog B | Measures resistivity of flushed zone
R Long Normal log | C | Asymmetrical response
S Proximity log D | Power is held constant

Choose the correct option

i | ¥ HelaH ¢al Pl HeF Hiad || 1 30! Saidd fa=mare

& 1Y B,
Hldd | Hlad Il
P [ oy Jom A | 3N B TR ol Pl al Tl 8
Q | 39 W@ B | uutfad &t & ufRieal &l Al o
R | sgdamgdad | C | s/gM uidisear
S | Mpear dog D | gk &l RR @ Widl &

[Question ID = 175][Question Description = 190_702_PARTC_CSIR_SEPT22_SET1_BIL_Q90]
1. P-A, Q-B, R-C, S-D

[Option ID = 697]
2. P-B, Q-D, R-C, S-A

[Option ID = 698]
3. P-C, QD, R-A, S-B



[Option ID = 699]
4. P-C, Q-D, R-B, S-A

[Option ID = 700]
21) The rate of increase of the Earth’s gravity field at latitudes 30° and 60° are in the ratio

300 iz 600 argrion Uz gedt @ sfsea g1 B afg g2___smoqura 3 &
[Question ID = 217][Question Description = 191_702_PARTC_CSIR_SEPT22_SET1_BIL_Q91]
1. 1:1

[Option ID = 865]
2. 1:2

[Option ID = 866]
3. 72:/3

[Option ID = 867]
4. [3:2

[Option ID = 868]

22) An anomalous body, in the form of a horizontal circular disc at a depth of 173 m, produces a maximum gravity
anomaly, which is half that of a Bouguer slab of same thickness and density contrast. The radius (in m) of the disc is

173 ez bl s162E uR uep Siferst sliciPR 33 & »u 3 v e fUs, siferma spsea Rzl Ut @wdr 3, Sl A3HTel Alers 3iR "oled faaRIT
(ebgRe) dIcl 9139k ¥did @I 3i1en & 33 &bl fesam (m &) @

[Question ID = 218][Question Description = 192_702_PARTC_CSIR_SEPT22_SET1_BIL_Q92]

1. 192

[Option ID = 869]
2. 260

[Option ID = 870]
3. 300

[Option ID = 871]
4. 346

[Option ID = 872]

23) Consider a situation wherein the magnetic anomaly in the horizontal component, at some station, over an ore deposit is
zero and the anomaly in the total field is twice that in the vertical component. Such an ore body can occur

v Wl Rrefer u? Rar @3, PR fepdl 39k W, vdb srIre 618U ur dadin eIl 3 Siferst ace 4, 9 3 siir Asyvl §iq 3 ferisifa
Seafer aed A PR 3 V1 RRE fUis 3l Dl 3

[Question ID = 219][Question Description = 193_702_PARTC_CSIR_SEPT22_SET1_BIL_Q93]
1. nowhere on the earth

yed! ue @&l o1él

[Option ID = 873]
2. at many latitudes

@S 31gtiol W

[Option ID = 874]
3. at only the magnetic latitude 30°N

Bact gudbtr aigrior 30N @

[Option ID = 875]
4. at only the magnetic latitude 60°N.

Bact gudblr aigrior 60N w2
[Option ID = 876]



24) " An ore body that can be equated to a single pole occurs at a place

where the vertical (V) and horizontal (H) components of the Earth's
magnetic field are in the ratio 1: 3. The positions of the maximum and
minimum anomaly values along a NS profile across this model are
separated by a distance of 150m. What would be the distance
between this point pair, if the body were located at a place where V:

H=22:3?

U 3% [0S O Uhdl 4d & GAGE 34 WM W {6Hal o ¥obdl §
el 3l & 9E 1 &F B SHieR (V)R &fas (H) 92 1: 3P 0
H gld 1 39 Alsd H, f¥edd iR IaH fadnid Al & Rufd te
ITR-GIEIUT WIThISE H,150 HITR BT 30 GRI e 354 9K § | 94 f4g
@H%&%ﬂaﬁqﬁwaﬁ,uﬁﬁswww@a@ﬂaﬁvm=
2V2:3%1 ?

[Question ID = 220][Question Description = 194_702_PARTC_CSIR_SEPT22_SET1_BIL_Q94]
1. 150 m, same as that where V: H=1:3

150 Hier, a4 g1 oRfl, Slgt v: H=1:3
[Option ID = 877]
2. 200 m
200 .
[Option ID = 878]
3 20042 m
200+/2 HI.

[Option ID = 879]
4.200v3m

2003 Hi.

[Option ID = 880]

25) A sinusoidal wave x(t) = A, cos(100xt) is digitized at a sampling
frequency f;. However, the output signal obtained is y(t) =
B, cos(60mt). The sampling frequency f; (in Hz) is:

U HIgIHISSd O x(f) = A, cos(100xt) U Hida™l HIGRT £, W
Sfighd Bl STl g gIaife, UI feid Tobd (2Mm3eye R y(r) =
B, cos(60mt) § | Widext 3t £, @< H) &:

[Question ID = 221][Question Description = 195_702_PARTC_CSIR_SEPT22_SET1_BIL_Q95]
1. 50

[Option ID = 881]
2. 30

[Option ID = 882]
3. 20

[Option ID = 883]
4. 100

[Option ID = 884]



26) For a symmetric matrix

6 3 2
A= [3 : 1|1
2 1 4
the narrowest bound within which all eigenvalues (4,,i = 1,2,3) of A
should lie is:
U GHIF 3ffedg (Aica) & fou
6 3 2
A= [3 5 1].
2 1 4

a4 Hpiviad Hir forad Hiat A & 9 i 3 (4,1 = 1,2,3) 8H
[Question ID = 222][Question Description = 196_702_PARTC_CSIR_SEPT22_SET1_BIL_Q96]
1. [2,15]

[Option ID = 885]
2. [0, 9]

[Option ID = 886]
3. [-1, 9]

[Option ID = 887]
4. 1, 1]

[Option ID = 888]

27) A discrete signal x(n) =1{2,1,0,—1,1} passes through a linear
system, shown in the  figure below. The energy of the output signal
y(n) will be approximately times the energy of the input
signal.

U 3dd b x(n) = {2,1,0,—1,1} UH RaFH YUMell & HAH o
Tafd far orar g, of i fou e fom | femmr o 21 Aefa 9%d v
B FHoll 19 Tbd DI ol BT ATHIT 1 81

[Question ID = 223][Question Description = 197_702_PARTC_CSIR_SEPT22_SET1_BIL_Q97]
1. 2.285

{2r 1, 1}

{-1, 2, -1}

[Option ID = 889]
2. 4.571

[Option ID = 890]
3. 1.0

[Option ID = 891]
4. 3.478

[Option ID = 892]

28) An oceanic lithosphere, being created at a mid-oceanic ridge (MOR), is moving away from the MOR at a speed of 5
cm/yr. The spreading rate was double the present rate during the Cretaceous period (145.5 Ma to 65.5 Ma). Assuming the
Cartesian geometry for the plate motion, the Cretaceous Superchron (121 Ma to 83 Ma) should be located between

from the MOR.



T IR ASRIPRIE e (MOR) UR 961 361 Uh #ARIPRIA Fecidiscl, MOR 21 5 eil/ad &l sifer 21 g3 st w81 8 @efIrRI®E (145.5 Ma a1
65.5 Ma) @ Girrel YRAIR G2 adddret 52 A gvjell o teic sIfel @ fére BIéhdrIeT Sfdifer @I A U, MefIRRIIu=MIE (121 Ma 1 83 Ma)
MOR @ dia Rera dlon aifdw

[Question ID = 224][Question Description = 198_702_PARTC_CSIR_SEPT22_SET1_BIL_Q98]
1. 5025 km and 8825 km
5025 fepaft siiz 8825 fepaft

[Option ID = 893]
2. 4150 km and 6050 km
4150 fapet iz 6050 fopaft

[Option ID = 894]
3. 3275 km and 5025 km
3275 fopaft aiiz 5025 fopett

[Option ID = 895]
4. 3275 km and 6050 km
3275 foaft aiiz 6050 fopaft

[Option ID = 896]

29) The Primary magnetic field (Hp) varies inversely proportional to cube
of the distance (r) between transmitter and observation point

(Hp o :—,) due to which type of transmitter?

fd UPR & TrHieR & SR MUES 98314 & (Hp), THHIER 3R
3fqailehH 85 (Hp o) & d1d B g4 (1) % B & SHAIIRN Iell
g7

[Question ID = 225][Question Description = 199_702_PARTC_CSIR_SEPT22_SET1_BIL_Q99]
1. a long horizontal grounded wire (Two Frame method)
SHaflel B oKl vep cfar Siferst AR (Gl B afafe)

[Option ID = 897]
2. alarge horizontal rectangular loop (Bieler-Watson Method)
UP ST SifeTol SRIAIDPR 9l (dier-areior fafer)

[Option ID = 898]

3. asmall circular loop (Slingram method)
U BIeT siicirpr urel (RBeip fafd)

[Option ID = 899]
4. along vertical wire (VLF method)
U cidl HedfeR ar (diecow fafer)

[Option ID = 900]

30) Which combination of electromagnetic methods measure Real and Imaginary components of Secondary field?

fereg geadi 2RIl o1 Dlat AT FRIST6l fEdlRID &g @ ar«ald® ik Icufsrd deml @I ATadar 37

[Question ID = 226][Question Description = 200_702_PARTC_CSIR_SEPT22_SET1_BIL_Q100]
1. Compensator and TURAM methods
yferiiye sie TURAM adias

[Option ID = 901]
2. Compensator and Sundberg methods

YRy o Joaef adid

[Option ID = 902]
3. Two-Frame and VLF methods
al-w. a3l VLF faferi

[Option ID = 903]
4. AFMAG and INPUT method
AFMAG 3iiz foraer fafer

[Option ID = 904]



31) For a fixed number of electrodes in ERT survey, which electrode array gives the maximum depth of investigation

$ARE Adervr 3 saadts bl v foifaa e @ fere, did AT scagls Wil rerd guT &l 3iferpad s16rE a1

[Question ID = 227][Question Description = 201_702_PARTC_CSIR_SEPT22_SET1_BIL_Q101]
1. Wenner array
otz Jvft

[Option ID = 905]
2. Schlumberger array
oe5ddstz IR0t

[Option ID = 906]
3. Dipole-Dipole array
f&gga-fgga woft

[Option ID = 907]
4. Pole-Dipole array

ga-fgga woft
[Option ID = 908]

32) The number of maximum possible 6-layer Schlumberger sounding curves will be

6-URd 2R ARBTSeT aay &t siferasder Jsa Fzoar sl
[Question ID = 228][Question Description = 202_702_PARTC_CSIR_SEPT22_SET1_BIL_Q102]
1. 16

[Option ID = 909]
2. 24

[Option ID = 910]
3. 32

[Option ID = 911]
4. 40

[Option ID = 912]

33) Statement A. The equilibrium solubility of a mineral represents the extent to which it will dissolve in water.
Statement B. Equilibrium solubility is unaffected by the temperature and pH of the environment.

Choose the correct option

Dol A - v Fiorst &I Fdgerel geloroflerdr urell 3 gefol oI 2T @I goridl 3
@l B - JAdctel geretoficrar wrifasur @ arudier sz dlwa A srgsnfada 3
Jdl ey gol

[Question ID = 229][Question Description = 203_702_PARTC_CSIR_SEPT22_SET1_BIL_Q103]
1. Both statements are incorrect.

Aol @elal BIcTd &

[Option ID = 913]
2. Statement A is incorrect but statement B is correct

@erol A sicid 3 Afdbol aeret B 3t 3

[Option ID = 914]
3. Statement A is correct but statement B is incorrect
ool A 3 2 Aifdpor aerat B srera 2

[Option ID = 915]
4. Both statements are correct
Gloll derat A8

[Option ID = 916]

34) Assertion (A): In the great majority of river systems discharge increases downstream.

Reason (R): The tributaries progressively add more runoff to the trunk stream.



Choose the correct option

ifdreperst (A): sif2rasior oiéY yonferil 3 fortsiar sreyare 6t ik agar 3
BRI (R) : I6RIP dfeAl #eT &IRT 3 IR 32 suars sitsdl 3
Al faweu goi

[Question ID = 230][Question Description = 204_702_PARTC_CSIR_SEPT22_SET1_BIL_Q104]
1. A'is correct but R is incorrect
A 3@t 2 cifdpor R steta 3

[Option ID = 917]
2. Aisincorrect but R is correct
A s1e1a 2 cifdpor R 318 2

[Option ID = 918]
3. Both A and R are correct and R is the correct explanation of A
A 3iiz R Sloil 3l & 3z R, A &t 218 wreeenr waan 3

[Option ID = 919]
4. Both A and R are correct but R is not the correct explanation of A
A 3z R Soit 218t & Afdsot R, A B 31l iecann ol vz 8

[Option ID = 920]

35) Match the following columns

Caolumn | Column Il

A | Changes in discharge through time | E Ephemeral streams
B | Elevation of the water surface ina |F |Bankfull discharge

river channel
C | Channels carry only occasional G |Overbank flow

flow after storms
D | Discharge at which the channelis | H |Hydrograph

filled to capacity

| | Stage

Choose the correct option

fafarad Siam! $i g PIfog

P | HIad Il
THa & 1Y fagoq | giao E | i IRanaRT
Sl B YRTH U @l Gdg i Sdig | F | deradr fagoH
C|sisn& aIg YRR A haa Uil | G| 2ifdde vamg /3iiadsd Tl
Varg gl fexad 8
D | 519 &l IR ¢RT 9Rgul 3 H| Sdrd
R fagoH

o >

| =R

el fadbey 9

[Question ID = 231][Question Description = 205_702_PARTC_CSIR_SEPT22_SET1_BIL_Q105]
1. A-H, B-Il, C-E, D-F

[Option ID = 921]
2. A-H, B-F, C-E, D-I

[Option ID = 922]
3. A-E, B-l, C-G, D-F

[Option ID = 923]
4. A-G, B-l, C-H, D-E



[Option ID = 924]

36) Statement A. The Manning roughness coefficient increases as flow depth increases up to bankfull discharge.

Statement B. Once the channel capacity is exceeded the flow spreads over a much larger area and the Manning roughness
coefficient decreases.

Choose the correct option

Dol A - yars bl 316312, dcrterdl frtsior a® agol Uz, AfoidI ol T dedr &
®ol B - v arR 11 &Y S1HAT UR 3 Siiol UR YdIs dgd &3 i) 3 Bl Sl 3 3R JAfoiol JwbolA IJuTicd Ba 3l SIIdr 3
Al faaeu goi

[Question ID = 232][Question Description = 206_702_PARTC_CSIR_SEPT22_SET1_BIL_Q106]
1. Both statements are incorrect.
GIoll deral SIcid 3

[Option ID = 925]
2. Statement A is incorrect but statement B is correct.
Dol A slcid 3 difdbel derel B 3@ &

[Option ID = 926]
3. Statement A is correct but statement B is incorrect.
Dol A &t & Alfdpor deret B steta &

[Option ID = 927]
4. Both statements are correct.
Sloll el A8 &

[Option ID = 928]

37) Read the following statements that are used to describe Till.

A. These are unconsolidated sediments deposited by glacier ice.

B. These are consolidated sediments deposited only by glacial meltwater and exhibit stratification.
C. These are typically unsorted and non-stratified.

D. These are typically well-sorted and are dominated by well-rounded clasts.

Choose the CORRECT option:

forgotferRaa werwil o uféu Rierm! suRieT ‘Ra’ oT aviar o o fore s srm 3

A. 3 3afORR ot 96 SR 51 by 31T sRieIda acoc &

B. I daer 3arerci @ firact urefl gRI St b 918 AP dersc 8 sil Fadia:vr ygfdfa @ &
C. 3 3 |l U GpAdg SIR - Iadlapd Bl &

D. A 39 Al U= el e A apiag Bl & IR soldl el e A JlicT WSSl BT Yfed BXell &
S} facu got

[Question ID = 233][Question Description = 207_702_PARTC_CSIR_SEPT22_SET1_BIL_Q107]
1. Only A and C are True
@dact A sz C aca &

[Option ID = 929]
2. Only B and D are True
@act B iz D e 3

[Option ID = 930]
3. Only D is True
@act D acer 8

[Option ID = 931]
4. Only C is False
@dact C 3RIcT 3

[Option ID = 932]



38) The following diagram shows two offshore islands (I1S). The zone of
diffraction will be approximately located at

FfdRad o &l sudca gidl (1S) oI aiidl § | faad &1 &3
TTHAT R g g

LAND LAND

LAl Ul HLA30 WL

WATER DEPTH inm

I8 = sland

[Question ID = 234][Question Description = 208_702_PARTC_CSIR_SEPT22_SET1_BIL_Q108]
1. A

[Option ID = 933]
2. B

[Option ID = 934]
3. C

[Option ID = 935]
4. D

[Option ID = 936]

39) In general, which one of the following types of breakers DOES NOT produce net shoreward movement of sediment

A diR UR, fo1Fol YR @ #1961l 3 31 Blol AT T eI D ol ACIcHA ATRYI DI IcUool oldl DIl 3

[Question ID = 235][Question Description = 209_702_PARTC_CSIR_SEPT22_SET1_BIL_Q109]
1. Plunging

3rdoteoft

[Option ID = 937]
2. Surging

B
[Option ID = 938]
3. Spilling

Sifercetraet

[Option ID = 939]
4. Collapsing

forardot
[Option ID = 940]
40) Stranded or raised beach deposits, marine shell beds and wave-cut platforms backed by steep cliff-like slopes indicate
a
A. Fall in sea level
B. Rise in sea level
C. Uplift of land
D. Subsidence of land

Choose the correct option:



Icpfere AT 343 U G e 181U, FAS aa AT, €162 HRI BI SR AR Sit WST agrel Sl Gerrell grr AAfa 3, ____ erAdasdd
A. g D ¥R A Briac

B. g > ¥R A gy

C. yfdr @& Icarst

D. sfdr @ sradcior

AHl fqpeu ol
[Question ID = 236][Question Description = 210_702_PARTC_CSIR_SEPT22_SET1_BIL_Q110]
1. B

[Option ID = 941]
2. D

[Option ID = 942]
3. Aand/or C

Asiz/@n C

[Option ID = 943]
4. Band/orD

B sfiz/=r D

[Option ID = 944]

41) Identify the correct set of karst features or landforms

PrR< &f fadruand ar y-snaferil & A8l e bl usarer o

[Question ID = 237][Question Description = 211_702_PARTC_CSIR_SEPT22_SET1_BIL_Q111]
1. Poljes, Tors, Cockpit, Doline
dictal, ARi, didfie, Siciser
[Option ID = 945]
2. Uvalas, Karren, Ponor, Poljes
3qIcI, DI, DDA, Tt
[Option ID = 946]
3. Karren, Bajada, Poljes, Sinkholes
DI, dI8Icl, Ulcol, fAerRIor 3

[Option ID = 947]
4. Uvalas, Ponor, Tarn, Cockpit
3drcl, HubReIKd, clof, Bidfic

[Option ID = 948]

42) Which one of the following is a bank-attached arcuate-shaped feature developed along the convex banks of meander
bends?

foraotfcii3ad 3 A dlol Al v dAcYTD AU @ PR dlcil i 3 Sl foRrd gardi @ Idet fpolRl @ A1 fawlea Bidl 87

[Question ID = 238][Question Description = 212_702_PARTC_CSIR_SEPT22_SET1_BIL_Q112]

1. Ramp
e

[Option ID = 949]
2. Riffle
SIaAIfeIenT

[Option ID = 950]
3. Point Bar
forrdf JAfereor

[Option ID = 951]
4. Braid
3jftoer

[Option ID = 952]



43) Match the Earth scientists with the hypotheses on pediment formation
proposed by them:

+|
Proponent Principal cause of pediment formation

A |A.C. Lawson L | Erosion by sheetflood and rillwash
B |W.M. Davis M | Lateral planation by streams

C |G.K. Gilbert N [ Structurally controlled irregular

landscape lowering
D |C.R. Twidale O | Deep weathering and stripping
P | Parallel retreat of hill front

Choose the correct option

g—%srﬁaﬁaﬁeﬂ%smmﬁﬁﬁ%ﬂfﬁnfmaﬁqﬁmwﬁﬂ

PESICED Ui&H=c (A1 &1 T HRUI

vl dred L | &1g 9reR 3R &% 9Rkdl GRI 3URE1

s ud.sfag  |[M| grrsii gr1 iy gaqeiaR

Gl &b, fiedc N | SRaHIdS ¥U Y HaEd siiHaid uiesy
DI HH B

D|diem feea | O] 1R siqed 3R 2mded

P | UgISl 3T &I GHHIR Hddd

0| >

gl fddey I+

[Question ID = 239][Question Description = 213_702_PARTC_CSIR_SEPT22_SET1_BIL_Q113]
1. A-0,B-N,C-L,D-P
[Option ID = 953]
2. A-P,B-L,C-M,D-N
[Option ID = 954]
3. A-O,B-M,C-L,D-N
[Option ID = 955]
4. A-O0,B-P,C-N,D-L

[Option ID = 956]

44) Velocity of water flowing over sands is higher than the speed of waves propagated in the flow. The following type of
bedforms are likely to form:

|1, @ SUR d80l drcl Ulefl @1 d91, Yars 3 Y c1s bl a1fer A 31feres dlen @ forgaifeiRaa yor @ A3ar Jvdel dolol bl Hsraol 3:

[Question ID = 240][Question Description = 214_702_PARTC_CSIR_SEPT22_SET1_BIL_Q114]
1. Antidunes

udteRioar

[Option ID = 957]
2. Dunes or megaripples

fewar =1 gaa sfefar

[Option ID = 958]
3. Ripples
St

[Option ID = 959]
4. Lower plane beds
forool JAeAcIcT IR

[Option ID = 960]

45) In the given figure, identify the clay minerals that usually appear in soil due to weathering of plagioclase feldspar with
increasing rainfall:



fRu s1u Riq 3, Fo1 Wil &t usare @3 Sl AR U= dqdl auf @ ATe WIfSRIacs BesIuR @ USRI @ PRI B 3 R 3a 3t

% Clay in Sol

Annual Rainfall (mm)

[Question ID = 241][Question Description = 215_702_PARTC_CSIR_SEPT22_SET1_BIL_Q115]
1. (A) Gibbsite(B) Montmorillonite (C) Kaolinite
(v) Breamse (d) sicafyclionse (i) daiiferorse

[Option ID = 961]
2. (A) Smectite(B) Gibbsite(C) Kaolinite
(v) 3Aacrse (df) Breasce () daifererse

[Option ID = 962]
3. (A) Montmorillonite (B) Kaolinite (C) gibbsite
(v) dicailRellonse (sft) daiferonse (M) Brearse

[Option ID = 963]
4. (A) Kaolinite (B) Gibbsite(C) Smectite
(v) Dlferomse (ft) Breemse (2f) Fiaerse

[Option ID = 964]

46) Which one among the following is most ideal site for achieving steady state in an open system?

b yuriehl 3 RFeR srazen Y ool @ fire fowarfeiRaa 3 31 ol a1 JreR) seof Feror 37

[Question ID = 242][Question Description = 216_702_PARTC_CSIR_SEPT22_SET1_BIL_Q116]
1. Leeward slope of a frontal dune

o 3l fesd @1 yferdet Getror

[Option ID = 965]
2. A glacier at the upper limit of ablation zone

Suhifer 8 Bt Sudt M w2 v Barois

[Option ID = 966]
3. A beach characterised by rhythmic topography (cusps and horns)

CRIEG FeACIDI (B 3l Sfol) I frduar arerr Wig dc

[Option ID = 967]
4. A stretch of a river between two bridges

S1 gedl @ o< oIt ol v xS
[Option ID = 968]

47) Which one of the following is the correct sequence of Koppen’s climate types according to their positions on the globe
starting from the equator?

YITERT 33T 3 QI Blol AIcl el UR Jotchl f¥eIfel & 3eRIR D6l B SIcIAR] YbRI BT Il Gt fororferRaa 3 A wior am 3?7

[Question ID = 243][Question Description = 217_702_PARTC_CSIR_SEPT22_SET1_BIL_Q117]
1. Af - BWh- BSh -Dfc - Dfd

[Option ID = 969]
2. Af - BSh - BWh - Dfd - Dfc

[Option ID = 970]
3. Af - BSh - BWh - Dfc - Dfd

[Option ID = 971]



4. Dfc - Dfd- BSh - BWh-Af

[Option ID = 972]

48)  Match the ecological adaptive strategies with the plant types

Plant Type

Adaptive strategies

A. | Hydrophytes

E.

germination of seeds before they shed;
adventitious roots that develop from the base of
the stem; negatively geotropic roots for supply of
oxygen

B. | Mesophytes

root systems are very deep; stems are dwarf and
branched; stomata are less in number and
generally confined to the lower surface of leaves

C. | Xerophytes

leaves are thin, narrow, and linear; extensive
aerenchyma in all organs; stomata are generally
ahsent

D. | Halophytes

leaves are large; stem is rigid and stout; normal

physiclogical processes

Choose the correct option

il & WebRT & 1Y UGS sipads gidad! &1 fHer &L

UiY & UPR A pad gl

A | wdllge |E. | €6l & FRA 9 Ugd 3] AR SRS
oS Sl 9 P YR I B R erd €
SIS DI 3MYfd & R APRIFAD
TRdrgad og

B.| wHlflge |[F |Sgdaagd e g ; a1 o 3R Y& gid g,
Lol T H @ B § 3R AR W Ul &
fFrerell wae o gl AEd gid §

C.| wfag |G |uftwiuad, GHd 3R Aa® el o, T 3T
gwm;imﬂmﬂ:aﬁfﬁﬁaﬁ

D.| @qumeiiee | H. | gfuat 931 8l &; 71 3R AR Hiel 8idl §;
T il Uishan

el fadbey I

[Question ID = 244][Question Description = 218_702_PARTC_CSIR_SEPT22_SET1_BIL_Q118]

1. A-G;B-H;C-E;D-F

[Option ID = 973]
2. A-G;B-H;C-F;D-E

[Option ID = 974]
3. A-H;B-G;C-E;D-F

[Option ID = 975]
4. A-G;B-E;C-H;D-F

[Option ID = 976]

49) Statement A: Kinematics of fluid flow deals merely with description of fluid flow.

Statement B: Dynamics of fluid flows does not deal with fluid flow.

Which of the following options is CORRECT?

Derel A: @ gares i siferas dael ga yare @ foreuvr A Hdfea 3




@erol B: ga yaig &t sifcieficrar ga yars A Adfena oidl 3
forgotferfiae 3t A wiot AT frweu w& 37

[Question ID = 245][Question Description = 219_702_PARTC_CSIR_SEPT22_SET1_BIL_Q119]
1. Both Statements A and B are true.
1. @erat A 3l B glail 3 &

[Option ID = 977]
2. Both Statements A and B are false.
@l A 3z B glell 3ricr 3

[Option ID = 978]
3. Statement A is false; Statement B is true.
Dol A slcid 3; delal B 31 3

[Option ID = 979]
4. Statement A is true; Statement B is false.
@erol A 3t 8; B aerol arcia 3

[Option ID = 980]

50) Statement A: Dynamic viscosity coefficient of a liquid increases with increase in temperature.
Statement B: Dynamic viscosity coefficient of a gas increases with increase in temperature.

Which of the following options is CORRECT?

@l A: draaret 3 gig & A1 avet & sifcolicr oATeIdAr IPIid 56 Sl 3
@l B: damaairet 3 giig @ Arer 31 &l s1ferofier 9reIdr spunics 96 Siredl &
forgotferRaa 3 A wlar AT e @t 37

[Question ID = 246][Question Description = 220_702_PARTC_CSIR_SEPT22_SET1_BIL_Q120]
1. Both Statements A and B are false.
el A 3iiz B Gloll sricr 3

[Option ID = 981]
2. Both Statements A and B are true.
el A 3z B Gloll 3T 8

[Option ID = 982]
3. Statement A is true; Statement B is false.
Dl A AT 3; Dol B srcrd 3

[Option ID = 983]
4. Statement A is false; Statement B is true.
Dol A slcid 3; deral B 31 3

[Option ID = 984]

51) Identify the INCORRECT statement: Atmospheric boundary layer

3Tcid el DI UsdIel D3 argFHsciI AT e,

[Question ID = 247][Question Description = 221_702_PARTC_CSIR_SEPT22_SET1_BIL_Q121]
1. is characterized by turbulent motion
w2 ygjeer aifer it 3

[Option ID = 985]
2. is associated with small Reynolds Number
T oifcsA JRM D AT IS &
[Option ID = 986]
3. is a layer where viscous forces cannot be ignored
U U 3 SI8T 93Tel Icil Bl oloR3IGTST oldl bRl SIT JAaber &

[Option ID = 987]
4. experiences a diurnal (daily) cycle of temperature, humidity, wind, and pollution variations
AIUdel, 3Gl &al, 3R Yguul fafderdansii @, vw yfefder (Sform) ady o sigjsra mxdt 3

[Option ID = 988]

52) The stationary Rossby waves from the mid-latitudes often decay in the tropics because



are=r sigrion A e dedl asl srawar sour wfeder i srr Bl  a=ilfs

[Question ID = 248][Question Description = 222_702_PARTC_CSIR_SEPT22_SET1_BIL_Q122]
1. the waves have travelled a long distance and lost energy.
g3l ol cidl gt a1 bt 8 aiiz il A Gt &

[Option ID = 989]
2. frequent convection and the diabatic heating in the tropics.
3IWI Dfed 3 IR-aR dasal 3R Yfersgst da
[Option ID = 990]
3. mean zonal winds are easterly.
e GIcffer Bare gd bt 8l &
[Option ID = 991]

4. Hadley Cell subsidence acts as a barrier between subtropics and tropics
sl et a1, Iurwrpfededr siiz swipfedtder @ dia va dren @ »u i BrRf azar 2

[Option ID = 992]

53) The anticyclones do not intensify as cyclones because
gferaaard, agard @ Si diq o1él gora a=iifes] Question ID = 249][Question Description =
223_702_PARTC_CSIR_SEPT22_SET1_BIL_Q123]
1. of the absence of latent heating in anticyclones
yferaaardi 3t spg 3w Bl srgufderfer & wrur [Option ID = 993]
2. of the radius of anticyclones is large
yferaaara & e ast 3t 8 [Option ID = 994]
3. they form over colder waters
q &3 Ut B w2 Torct 3 [Option ID = 995]
4. the relative vorticity and planetary vorticity have opposite signs
ANBID 9ffdreran si sk epfdrerar & fudiar 2> 8k & [Option ID = 996]

54) The given figure shows a vertical cross-section of an Occluded Front. Which of the following is true about the
temperatures of the 3 air masses A, B, C associated with the front?

&t orf srrepfer v siftrenfea (slipgSs) NPT & v SHealer sy Pdic oI corfedl 3 foraferRaa 3 21 wla 211 3EJPI A I3, 3 dRJ RN A,
B, C @& amuars @ ar 3 Wt 87
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[Question ID = 250][Question Description = 224_702_PARTC_CSIR_SEPT22_SET1_BIL_Q124]
1. Ta<Tg <Tc
[Option ID = 997]
2. Tao>Tg<Tc
[Option ID = 998]
3. Tao>Tg>Tc

[Option ID = 999]
4. To=Tg=Tc

[Option ID = 1000]

55) If the absolute vorticity of the flow is conserved, air moving northeastward in the northern hemisphere will turn ___
to compensate for the ____ in the planetary vorticity.

afe gars & foreaer sfdrerar o1 e s st 8, a Iadt sieg # Iar-gd & 3 agal archl zar sk sffdrerenr B ____ &l spurd ol
fere g3 sieeft [Question ID = 251][Question Description = 225_702_PARTC_CSIR_SEPT22_SET1_BIL_Q125]

1. anticyclonically, decrease

oafl, gferaaqgardt [Option ID = 1001]

2. anticyclonically, increase




gf, yferaaardt [Option ID = 1002]
3. cyclonically, increase

gfs ,a@ardt [Option ID = 1003]
4. cyclonically, decrease

oafl, aaqardt [Option ID = 1004]

56) If an initially motionless airmass centered over the equator is moved adiabatically to the north pole, then it will
Af YR 3T UR DI Up RN 3Ifeidiol, aRY GoIATeT DI IJGISH WU A I d U= o SIRI SIAT 3, dl dRJ GoIHIol

[Question ID = 252][Question Description = 226_702_PARTC_CSIR_SEPT22_SET1_BIL_Q126]
1. attain a cyclonic relative vorticity.
Dl U aapaldl et sjfdrerar g aeft

[Option ID = 1005]
2. attain an anticyclonic relative vorticity.

DI Ub Yferaapard AmieT 9Jf3icTar yra St

[Option ID = 1006]
3. disintegrate.

XifSa gen

[Option ID = 1007]
4. remain motionless.

aIfcidlel Tot 2ot

[Option ID = 1008]

57) Statement A: Thick clouds reflect more solar radiation than thin clouds.

Statement B: Absorption of solar radiation in extensive cloud systems is about 20%.
Choose the correct option.
@Yol A: Hol drcel et arcell &l detolt 3 siféra Az fafdssur wrrafda o &

@l B: simue arce dq 3 AR fafesaur o1 sraonyur cener 20% 3 A8 frasea gol

[Question ID = 253][Question Description = 227_702_PARTC_CSIR_SEPT22_SET1_BIL_Q127]
1. Statement A is true; Statement B is false
@efol A AT &; delel B srera 3

[Option ID = 1009]
2. Statement A is false; Statement B is true
@erol A 3Icid 8; ool B A1 3

[Option ID = 1010]
3. Both Statements A and B are false
@erol A 3z B Qloil srier &

[Option ID = 1011]
4. Both Statements A and B are true
@erol A 3z B Qloil a1cer &

[Option ID = 1012]

58) Which part of a thunderstorm cloud dissipates first?
afsa sisn arcell BT Dlel AT HPT AT Usdl SRI alar a7[Question ID = 254][Question Description =
228_702_PARTC_CSIR_SEPT22_SET1_BIL_Q128]
1. Top
3w [Option ID = 1013]
2. Bottom
offa [Option ID = 1014]
3. Sides
it [Option ID = 1015]
4. All parts dissipate together
18} 81101 B Are 81T &l Siied & [Option ID = 1016]

59) For the prediction of which one of the following phenomenon a coupled ocean atmosphere model is necessary?
forgatferRaa 3 A fop1 oI sfr=ramit @ e v JPaa AsRIPRI adraRv J#isd smaeAae 3?7 [Question ID = 255][Question Description =
229_702_PARTC_CSIR_SEPT22_SET1_BIL_Q129]

1. Tropical Cyclone



SwipfedefRr adqara [Option ID = 1017]
2. Low-pressure system

a1 gard gunett [Option ID = 1018]
3. Deep convection

31831 3asa [Option ID = 1019]
4. ElNino

3ret forait [Option ID = 1020]

cht
Ax

%0) Courant-Friedrich-Levy (CFL)
HR-C-Wrsad-eidl (CFL)

[Question ID = 256][Question Description = 230_702_PARTC_CSIR_SEPT22_SET1_BIL_Q130]
1. Unstability

= 1, condition is known for

< 1, TR Y& U oIFT AT &

cAt
Ax

3if¥erar

[Option ID = 1021]
2. Conditional instability

yferdfera sif¥erar

[Option ID = 1022]
3. Computational stability

JPIUIGIEHD 3if3erRdr

[Option ID = 1023]
4. Inconsistency

SRASIAAT

[Option ID = 1024]

61) Thermal wind is the change of in vertical troposphere
Seafer giswEisd 3 Sl udaet @I ufeacdol 3

[Question ID = 257][Question Description = 231_702_PARTC_CSIR_SEPT22_SET1_BIL_Q131]
1. Inertial wind
Stscdiel uder

[Option ID = 1025]
2. Geostrophic wind
yfaerdt uaor

[Option ID = 1026]
3. Cyclostrophic wind
aDIferd Udol

[Option ID = 1027]
4. Gradient wind
YUl Udol

[Option ID = 1028]

62) If isobaric surfaces are also the surfaces of constant density, then atmosphere is
Afe eAcd I goo Rer #olea arcl goo oft 3, I argeisal _____ 3[Question ID = 258][Question Description =
232_702_PARTC_CSIR_SEPT22_SET1_BIL_Q132]
1. Conditional unstable
wBferfi aif¥erz [Option ID = 1029]
2. Baroclinic
grayafre (Rifdeforas) [Option ID = 1030]
3. Barotropic
glagelcdl (RAQHft) [Option ID = 1031]
4. Unstable
aif¥erz [Option ID = 1032]

63) Larger values of Rossby number are likely to be seen
3l Iz D S Aol S Sirol i Asiraet 3 Question ID = 259][Question Description =
233_702_PARTC_CSIR_SEPT22_SET1_BIL_Q133]
1. when the horizontal length scale is large.
1 Siferst ciar$ oot Sammom @St Aer & [Option 1D = 1033]
2. when the vertical extent of the system is large.



S yurett I Heafer Ao gt 8iedt & [Option ID = 1034]
3. closer to the equator.

991e3] 3 D g [Option ID = 1035]
4. closer to the poles.

gdi @ @3ta [Option ID = 1036]

64) In a tropical cyclone, the conservation of mass requires
Jour PpfedeiiRn aqard 3 godrel AT @ feru smagadar aidl 37[Question ID = 260][Question Description =
234_702_PARTC_CSIR_SEPT22_SET1_BIL_Q134]
1. upper-level divergent flow.
Fust-212 foraeter yars [Option ID = 1037]
2. weakening of the low-level winds.
fotgot 212 bt aarsil I wasiz alem [Option ID = 1038]
3. thunderstorms in the eyewall.
Sl W 3 afa sism [Option 1D = 1039]
4. calm and clear eye.
i 3ii Juee sifaa [Option ID = 1040]

65) Statement A: The Earth’s atmosphere became oxygen rich around 2.4 billion years ago - called the great oxidation
event (GOE).

Statement B: Photosynthetic bacteria produced first oxygen on the Earth.

Choose the correct answer?

Dol U: gedl I arygisel cPRRET 2.4 36 Alcl usd iiailsiol Fd.g dol SR - 3)¢ fiafiSorel sde (SiisiE) wer sirar &
@Yol dl: Y19l AS3UD Jaélf¥n of gedl uz useln sifaziisiel Scurget fipan
A8 I@R gor?

[Question ID = 261][Question Description = 235_702_PARTC_CSIR_SEPT22_SET1_BIL_Q135]
1. Both statements are correct and B explains A.
Glall deral A3t 2 3l B, A &t wmen war 3

[Option ID = 1041]

2. Both statements are incorrect.
GIoll deIal Sl 3
[Option ID = 1042]

3. Ais correct but B is incorrect.
A 3t 2 cifeport B sreia @

[Option ID = 1043]
4. Aisincorrect but B is correct.
A s1e1a 2 cifcpor B 3@t 2

[Option ID = 1044]

66) Match the wave types in Column-| with their properties in Column-ll

Column-I| Column-II
P | Capillary V | Free waves in open ocean with gravity as a
waves restoring force
Q | Standing W' | Free waves with surface tension as a
waves restoring force
R | Tidal waves X | Forced waves in open ocean with gravity
as a restoring force
S | Wind waves Y | Formation of Nodes and Antinodes
Z | Forced waves with surface tension as a

restoring force

Select the CORRECT option
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[Question ID = 262][Question Description = 236_702_PARTC_CSIR_SEPT22_SET1_BIL_Q136]
1. P-W, Q-Y, R-Z, S-X

[Option ID = 1045]
2. P-Z, Q-X, RV, S-W

[Option ID = 1046]
3. P-Z,Q-V, RY, S-W

[Option ID = 1047]
4. P-W, Q-Y, RX, S-V

[Option ID = 1048]

67) Consider the following statements
Statement A: Diffusional mixing rate of salinity is higher than that of temperature in ocean.
Statement B: Larger density gradient in the vertical leads to shorter wavelength waves.

Choose the correct option

forraifeiRaa el U frar @3

@erel A: cravrar & ferzvfir eyt <2 #AeRIPR @ arudrel &I deen 3 aiferd 3
@Yol B: Heaier 3 gaar doled Yavldr BI¢l asT Ge=i arcil aell & 3ii o Siredl 3
A3 faeu got

[Question ID = 263][Question Description = 237_702_PARTC_CSIR_SEPT22_SET1_BIL_Q137]
1. Statement A and B are True.
erol A siiz B 31 &

[Option ID = 1049]
2. Statement A is False, Statement B is True.
Dol A slcid 3, @elal B 31 3

[Option ID = 1050]
3. Statement A is True, Statement B is False.
Dol A AT 3, Dol B srcia 3

[Option ID = 1051]
4. Statement A and B are False.
Dol A 3z B stera &

[Option ID = 1052]

68) The given figure shows the continents (shaded) surrounded by ocean (unshaded) and vectors represent surface wind
directions. Identify the processes in the coastal regions marked with A, B, C, and D.

&t or$ srapfer ISl (SRIIfsa) ol 3G A BR (Ron sriifdea) corld 3 iz afger/diz, Aadl udger fonsii @t corfa & A,B,C 3iiz D & ama
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[Question ID = 264][Question Description = 238_702_PARTC_CSIR_SEPT22_SET1_BIL_Q138]

1. Upwelling at B and D, Downwelling at A and C
B 3z D w2 3cyarét , A 3z C w2 srefiyardt
[Option ID = 1053]

2. Upwelling at A and D, Downwelling at B and C
A 3iiz D w2 3cyardl, B siie C w2 srelyarst
[Option ID = 1054]

3. Upwelling at A and C, Downwelling at B and D
A sz C w2 3cyardl, B siiz D w sregarst
[Option ID = 1055]

4. Upwelling at A and B, Downwelling at C and D
A 3z B w2 3ryardt, C 3k D w sreliyarst

[Option ID = 1056]

69) Identify the CORRECT combinations of ocean circulation theories in
Column-| with their mechanism in Column-|I.

Column-I Column-l
P | Sverdrup theory | T | Friction between the currents and the side
walls added to the potential vorticity
conservation.
Q | Stommel theory |U | Ocean interior meridional flow directions
described through a potential vorticity
argument
R | Munk’s theory V | Inclusion of dissipation of potential vorticity
to explain westward intensification of
western boundary currents

Select the CORRECT option
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[Question ID = 277][Question Description = 239_702_PARTC_CSIR_SEPT22_SET1_BIL_Q139]
1. P-U, Q-T, R-V

[Option ID = 1105]
2. PV, Q-T,R-U

[Option ID = 1106]
3. P-U, QV,RT

[Option ID = 1107]
4. P-V, Q-U,R-T

[Option ID = 1108]

70) Which one of the following shows a CORRECT relationship of Tide generating force (F) on the Earth’s surface due to the
Moon? (R: The Earth’s radius, D: Earth to Moon distance, M: mass of Moon)

forgatferi¥aa 3 A Dol g @ DRI Yedl ol Ads UR sar Uer @2l dardl & (F) o1 381 dAder gorfar 37 (R: gedl & fes=n, D: ged 2 <dgan ot
g, M: <icamr @1 goIeTol)
[Question ID = 278][Question Description = 240_702_PARTC_CSIR_SEPT22_SET1_BIL_Q140]
" FxMRD?
[Option ID = 1109]
2 F«MR2D?
[Option ID = 1110]
Fe«MR2D3
[Option ID = 1111]
“ FaxMRD?

[Option ID = 1112]

3.

71) A wave having a wavelength 624 m, frequency 0.05 s™' is propagating in deep water. The wave passes a fixed point P,
30 seconds after crossing a crest. If the amplitude of the wave is a then, what is displacement at point P?

O 3ol Bt a3erget 624 m, smgfer 0.05 s™ 3, a18¥ siet 3 Jiafya 3 7 & Ro1 uwp ofif DI urR ol D 30 ABs arg uw Bk fig P A
Sl & AfS 3T @I IRIA o 3, dl fig P us farenust o= 3?7
[Question ID = 279][Question Description = 241_702_PARTC_CSIR_SEPT22_SET1_BIL_Q141]

1. o

[Option ID = 1113]
2.0

[Option ID = 1114]



3. -a

[Option ID = 1115]
4. 0/2

[Option ID = 1116]

72) Given figures represent nutrient profiles at a site in the tropical Pacific Ocean. Which one of the following options
correctly epresents these nutrients?

fu s1u sribs SourmfedeiRI gorid AGRIPR 3 U FeId U UINd dcd I U3l DI ¢orfd & forgaifciRaa 3 A it A1 faweu 18t 3?7
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[Question ID = 280][Question Description = 242_702_PARTC_CSIR_SEPT22_SET1_BIL_Q142]
1. A-nitrate, B-phosphate, C-dissolved iron, D-silicate
A-omsee, B-wizwe, C-faafia dlar, D-Riferde

[Option ID = 1117]
2. A-silicate, B-phosphate, C-nitrate, D- dissolved iron
A- faftrade, B-wiede, C-onsee, D-Riafa dsr

[Option ID = 1118]
3. A-silicate, B-nitrate, C-nitrite, D- dissolved iron
A-fiferade, B-omsee, C-airscrse, D- fefa st

[Option ID = 1119]
4. A-nitrate, B-silicate, C-phosphate, D- dissolved iron
A-arsee, B-Riftrdde, C-wizie, D- fafa alar

[Option ID = 1120]

73)  Match the column | with column I

Column-l (composition/deposits) | Column-ll (Locations)
A | Calcareous ooze E | Abyssal plain

Manganese nodules Continental shelf

B E
C | Metal sulphides G | Seafloor above CCD
D | Phosphorites H | Hydrothermal vents

Choose the correct option



PHIAH-1 Bl Hlad-Il J Aled Bty

HieH-I (composition/deposits) HicH-Il (Locations)

A 3ol E

EREGEE ST F | #Aeraium agae

C | ud vprEs G | HiRiist & SR wHgdq
D |oBempREeH H | Swroei @%
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[Question ID = 281][Question Description = 243_702_PARTC_CSIR_SEPT22_SET1_BIL_Q143]
1. A-F, B-H, C-E, D-G
[Option ID = 1121]
2. A-G, B-E, C-H, D-F
[Option ID = 1122]
3. A-H, B-E, C-F, D-G
[Option ID = 1123]
4. A-H, B-G, C-F, D-E

[Option ID = 1124]

74) Ocean takes up significant amount of anthropogenic CO;.What is the primary reason behind this?

FBRIPR Aloidasiford CO, & Fscaygut arqgr oar & s W yrerfies orul o 37

[Question ID = 282][Question Description = 244_702_PARTC_CSIR_SEPT22_SET1_BIL_Q144]
1. Phytoplankton consumes CO; during photosynthesis in the surface ocean.
UIGU Celad, Adal ASRIPR 3 Y19l 3e3uul @ Gilel CO; I 3usilel Bl &

[Option ID = 1125]
2. Increase in atmospheric pCO; leads to more dissolution of CO; in the ocean.
arggiscier pCO2 3 gl 3 Agg 3 CO, @1 aifere faferel gar &

[Option ID = 1126]
3. Increased sedimentation leads to more CO;sequestration.
I3 8e 3a=icol A COp &l siftrd 2aue 2t 8

[Option ID = 1127]
4. Zooplankton grazing has increased over time.

yifdrceracs &t aRrs (S)fSier) IWRI D el ISt &
[Option ID = 1128]

75) The flux of N2O out of the ocean is mostly concentrated in the upwelling areas and high latitudes because

IBRIPR A a2 N20 @1 yars siférpdaz Icgardt giqi stz 3w sighioll 3 dica 2 a=iifes

[Question ID = 283][Question Description = 245_702_PARTC_CSIR_SEPT22_SET1_BIL_Q145]
1. there is more N; available in these regions.
ol 81 9 3ifdrs Ny Sucteer 3
[Option ID = 1129]
2. the solubility of N,O is less in these regions so it escapes to the atmosphere.
ol 8Icjl 31 N2O bl fAcRIAr @t Bleil & sAfe1e A8 arRJyST I UelRIel DR Sl &
[Option ID = 1130]
3. the processes that produce N,O are inhibited by light.
N20 3cuoet @20l drefl iR yoror gRI dIferd aldl &
[Option ID = 1131]
4. the winds are stronger in these regions and help the gas to go out.
3ol 8l 3 &aI8 ol it & 3R Sil 1A DI d182 forpetol 3 ABRIAT Dxdl &

[Option ID = 1132]

76) There are two particles, X and Y, on the sea surface. The density of particle X is twice the density of seawater, while Y
has the same has density as the seawater. If X’s radius is thrice the radius of Y, which of the following statements is correct.



MG DI a8 Uz <l PuI X 3R Y & D1 X I doled AP Sicl D Holcd DI SOJGl 3, SIib Y I Holed AG! STl B Holed @ A6l 81 & A X i
for=n Y bl fogs=n bl fepgeft 3, Al forgeifeilRaa 3 A ot A1 Do 38 &

[Question ID = 284][Question Description = 246_702_PARTC_CSIR_SEPT22_SET1_BIL_Q146]
1. Sinking velocity of X is 9 times that of Y.
X @1 sgat @1 Ja1 Y @1 9 3jort 3

[Option ID = 1133]
2. Sinking velocity of X is 3 times that of Y.
X @t Sgot @ Aot Y @ 3 3ol &

[Option ID = 1134]
3. Sinking velocity of X is 18 times that of Y.
X @1 3@ot @1 o1 Y @1 18 3ot 3

[Option ID = 1135]
4. X might get deposited in the sediments but Y will not sink.
X dctese 3 SR 8l Al 3 cifdbot Y oidl sdom

[Option ID = 1136]

77) What is the preferred sequence of oxidants utilized by bacteria during the decomposition of organic matter?

rdforas ugrelf @5 suEcs d Slklol TR GRI IurieT fobu Sirel ardl siiafisc o1 oo = 37

[Question ID = 285][Question Description = 247_702_PARTC_CSIR_SEPT22_SET1_BIL_Q147]
1. 02> NO3~ > SO42'> CO3”

[Option ID = 1137]
2. 07 > NO3™ > CO3%" > S04

[Option ID = 1138]
3. 0z > SO42> CO3™ > NOy-

[Option ID = 1139]
4. NO3™> S042>C03% > 0,

[Option ID = 1140]

78) Ongoing climate change would likely result in
Sicrary A @l 3¢ ufvadel @1 uf¥vimer Jsradrn [0

[Question ID = 286][Question Description = 248_702_PARTC_CSIR_SEPT22_SET1_BIL_Q148]
1. frequent hypoxia in coastal waters.
¢RI SIct 3 TPIR Srasitaiierdr (srsuifdrm)
[Option ID = 1141]
2. decrease in nutrient loading in coastal waters.
AclI Siet 3 UINd dcdl D 1R 3 Dt
[Option ID = 1142]
3. inhibition of stratification in coastal waters.
AT Siet 3 Tastasur oot forder

[Option ID = 1143]
4. increase in ocean pH.
FBRIPRRI diea 3 giy

[Option ID = 1144]

79) Secondary production in ocean typically refers to

ABRIPR A fdkid Scurge smardlz uz Jcfifa DT 3

[Question ID = 287][Question Description = 249_702_PARTC_CSIR_SEPT22_SET1_BIL_Q149]
1. growth of microalgae

JJga-dtaret Ht gy

[Option ID = 1145]
2. growth of heterotrophic biomass

frordredt Sftaere (ariemRr) 6 gfg

[Option ID = 1146]



3. overall biomass
] Sftasrme
[Option ID = 1147]

4. growth of haptophytes
s i gy

[Option ID = 1148]

80) Statement A: Benthic infauna plays important functional role in bioturbation.
Statement B: Oxygenic photoautotrophs synthesize chlorophylls and carotenoids.
Choose the correct answer

Pl U arRiicdordt 3 foracer sia:qidema secayuf orifcas syfdr foremrar 3
Do dl: sifafiere (sifafisforr) gwmoraulfta, adRifbe R DACHRISA DI ASAA DA &
I8 IR got

[Question ID = 288][Question Description = 250_702_PARTC_CSIR_SEPT22_SET1_BIL_Q150]
1. Both the statements are correct
Aol werel A &

[Option ID = 1149]
2. Both the statements are incorrect
Qloll aeral SIcTd &
[Option ID = 1150]
3. Statement A is correct but B is incorrect
@erol A 3l 2 Afdvor B a1erd 2

[Option ID = 1151]
4. Statement A is incorrect and B is correct
el A scrd 2 i B 31t 3

[Option ID = 1152]






